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Time : 3 Hours Marks : 200
Instructions:

(i)

(i)

Fach question carrics one mark.,
8 (BHD &8 Sty Sodh.
Choose the correct OF MEst 8PPropriats answer from the given options to the following questions and

darken, “.‘“h blue/black ball pOi_nt Pen the corresponding digit (1), (2), (3) or (4) in the circle pertaining to
the question number concerned in the OMR Answer Sheet, separately supplied to you.

Br0D @) B8 BHHD ABWES BEE Ko, HLrTEEND JPED OO SrDoB wos (1)/(2), @) 88
(4) SBore 55 OMR SIrGe BSsme (59 50008003 Sot o HBEH ap/ept ard ool iy
A5@ErA0D VDSBS,

3 3
If 2x — 5y =7z — 3y then, for xyz 0, 3 —3432°—8y" _
Xyz

3 3 3
2x —5y=7z-3y, xyz# 0, ©o0IHH 8x” 3437 -8y~ _

xyz
(1) 80 2 82. 1)( 84 4 86

A person travels from A to B at 75 kmph in a Car and in the retumnjourney the speed is reduced by 15 kmph.
If the total time taken is four-and-half hours then the distarice (inkms) between A and Bis:

&8 358 A 08 BE 56 (S5m0 ot 75 8. &, Bfodh 38, B (Saireos® SRy fowsd 158.5
SROTRD. & g0 (HATETAS TeorhR)S Hoen 25@3 A, Bo gl drBo(8. .08 :
(1) 100 @ 120 pf 140 @ 150

Three persons A, B, C start a company and confribute a total of ¥ 10,70,000 towards its running. A
contributes Z 50,000 more than B, and B¢ontribittes ¥ 60,000 more than C. If the company earns a profit of

T 2,72,850, then the share of A is : (in rupees)
ooty 5gen A, B, C e T10,70,000 ::aga:&s* 2.8 02D (8o, B 2eyed 577 A1ipod 50,000
a&,éé, 2830 C Dévod ggja B ‘gég)&)& T 60,000 E)é)&_a’). w S02d8 T 2,72,850 ergfo E'J"é woHe® A

Tt : (Braranerd®)
() 1,04,550 5" 156,800 @) 91,800 @ 76,500

The volume of a sphere equals its surface area only when its radius (in units) equals :
&8 o 05505med PR as08 PeroPl SErSHAH Sdvo Tyrgo (ArARE’) Bod Hoggd

BErSSoonsHPe SR|BD :
o o1 @ 2 ® ¢ 47 3

If the angles of a triangle are in the ratio 2: 3 : 7 then the largest angle is : V1Y

& Bebmosts e 2.3 70586° 808, T8 ©8DY Ero :
Z) L g;:::o - ??)50 (3) 120° (4) 150°

g ! 8 @ 16
" ittt

The number of positive divisors of 1995is:

1995 &w¥) G gressce dogy ﬂ)/ - o

3-D
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While walking a distance of 24 km, a man noticed that after walking for 1 hour and

5 A . .
40 minutes, the distance walked by him was = of the Fémaining distance. His speed of walking is :

(1)  4km/hr (2) Skm/hr f" 6 km/hr 4) 8km/hr
o 58 24 8. 2. tovoeR) SPOREED Bcirdoscrs pADENBOR 2.8 Kot 40 DEve SBaee KSVODNAHOE

1) 485 /K. (@ 58./Ko. 3) 68.5./Ko. @) 88.%. /Ko

A certain sum is given on compound interest at some rate. The sum amounts to ¥ 7,350 and ¥ 8,575 at the
end of 2 years and 3 years respectively. The sum givenon compound interest is

508 Rrduyh Eod Bend SESES adwlhod. © din 255 PoSroIPE BB 35 HoBS)ToE RS

(1) 5,000 % 5,400 (3) 6,000 4) T 6400

The least multiple of 7, which leaves a remainder of 5, when divided by 6, 9and 15 s :

7.
0% [BSrBoDS Erto DADS BrE0st ; 4 S0 ®D. w3 S&8 Bro -
8.
Sodre T 7,350, 8,575 mm eowod. SESE8 ad)d vy :
9.
¢

6,9 20005 1503 Grhosm™ 5 Fsn S5 4ot 7 @nE) rhderes’ w8 23 Sowy :
(1) 450 Q)/ 455 (3)< 560 @) 378

10,

pre
Taps A and B fill an empty tank individually in'8 hours and 6 hours respectively, while
tap C empties the full tank in 12 hours. Due to 4 problem tap C could not be closed. If the taps A and Bare
opened alternately for one hour each starting with 4, the time taken (in hours) to fill the tank is :

¥ g &80 A, B o3 Hom DEDAT SEF 8 fote, 6Koten Hdcbos® odre, Ced HoH Jotd
62 12 fowd’ 78 Bp08. Fod iy de S C R Surd Sahtro HEY Bt%. A, Bod SKHIe L85
Soxi 288 2.8 ot Pen DR & 558 A S (G0 & & Dokl 58 Bavo (Kotrdd) :

@' 6 8 @) 16 @ 24
,
11. January 1, 2018 was Monday/ Then January 1, 2019 falls on the day :
,(*{ Tuesday (2) Wednesday (3) Thursday (@) Saturday
22358 1,2018 5RFEI00. @ HX¥EB 1,2019 B $3) B0
(1) orgase 2 §=do @) o 4) #ddo
12.

A tent is in the shape of a cone surmounted on the top of a cylinder. Height of the cone is half that of the

cylinder and the b.'%se radius 9f thecylinderis 3 m. If the canvas required for the tent is 198 m2, then the total
height of the tent (in meters) is :

gy o o) e°Bo 28 JZT0 P 0% BHoNseRD. oD I, wmo JHE® Bio Bk
S gbe g0 3 8. HEroR8 SOIR ] g 198 .2 o8, HEso 380 & (wgs®) : (;

M 3 @ % o 8 @4 12

4-D
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13.  Threepersons P, Q, R starta company wig, their contributions being in the ratio 315 After 3 months,
P withdraws half of his contribution, ang gte, another 9 months ; a profit of 3,16,000 is divided among
them. The share of P is : (in rupees)
Sl fhen P,Q Ren = z' ga:naess bepol DY o8 LoBhI Proodomrth. Kt Boo Somrd P
83 2igodd ks SUVHOLRD. 208 g0 Fov S SO)S e 73,16,000 B SoErE.
06" P8 SIS e (Erdraved®)
(1) 1,20,000 @  1,00,000 ;a)/ 96,000 (4) 90,000

14.  The remainder when (67% + 67) is divided by 68is:
6757 + 67 % 68 8° growe $3) 3o
ﬁn/ 1 @ 65 (3) 66 4 67

15. A train starts with some number of passengers, At the first station, one third of the passengers get down
from the train and 280 passengers get into the train. At the second stabon, half of the passengers get down
and 12 passengers getin. Now, the number of passengers in the train is 248. The number of passengers in
the train at the beginning is :
Fod0b (HardHes® o8 Do DdbEEID. Zsd RAHE® Krdob a8 Ho (HardHen AAFM
280 5008 (HirBSen Bend®s (B38008. Bo&® PADE® @HairdHd® Ko Hob BAJNT 12 Hod &°08
(5538008, 2K Bens® (HoirdSHe Soxg 248 oond [Fogod’ Jend® &) (HasrdDe Sogy |
1 192 ’ 2 288 @ 324 4 376

16. If ABCD is a cyclic quadrilateral in which |ABC = 47° and [BCD = 97° then |ADC - |BAD =
380> Sdymo ABCD&® |ABC = 47°, [BCD = 97° ®ond |ADC - [BAD =
() 40° , (;)/ 50° @ 60 @ 70

P-T 5-D

www.sakshieducation.com



17.

www.sakshieducation.com @

’

derofthe elements in the sy ( 4
5

W[ ro
2|3
™

J) thEﬂ the Correct

=W

fa; a; 2y a,and ag are the decreasing © s

. onin 188 -is -

matching of the values in List - I to those given

@ B30

S8 {% 273 _51] &9 Fapos P A3y 23 4y, a5 ©aDE @Bge-] &0 Denses;

O - 11 508 e85 08
List-1/erfae-1 List-

@ a -a, (i)

/=11

W= =

®  2a,-a, (il

(C) 533 = 481 (lll)

M= o=

/

The correct matching/ 580 &6 :
(M (@), b)-(i), (O-(iv) A5 @i 0, @)
®) (@), (b)-(i), (c)-60) (&) (- G-y

18.

A and B undertake to do a work for ¥ 6,000. A alone and B algne can do that work i
? o ork in 6
respectively. With the help of C, they have finished the workiin 3 days. The share of B's ll: : o 8 e

A, Beo 2.8 330 76,000 0% 30008 2.83)060 HEHENTAB: A, B o0 DEDAM e 539 SBIMe 6, 8 Goars’
Babrow, CoFabo8s® & 509 36 ro3n0: @B B - A
(1)  Z2400 ((2)/ % 2,250 (3) T2,000 @ T1,500

19.

The ages of A and B are in the ratio 2 : 5, Eight years later, the ratio of thei i : i presen
s, e 1 eir ages will be 22: 43. Their p t
A 0o B @) Sabidinen 2: 5 0488° sTon. VDB SoSE)Biven Shoird, 0 Sabdine 958
22: 43 0H&HoD. O (SRS Sabiye (Soi o) ;

14, 35 (2) 416,40 (3) 18,45 (4) 20,50

20.

IfP,Q, R and S are the mid<pointsf the sides AB, BC. CD and DA ively of i
the quadrilateral PQRSis a | e respectvely ola quadrlateral ABCD then

(;) :q“::l (20 Rhombus
&) aIp ( Parallelogram

S0 ABCD &0 4bamen AB, BC, CD oy DA © gy DothiHen S&e P, Q R, S 88, st
Séyzo PORS2E :

1) SHdHo

3) _Bssdso Q SISm0

(4) Dhrosy SEBYeso

21,

How many times, the speed of the minutes hand js more than that of the hours hand ina clock ?

¥ KA 80 dupe ;?ﬁm fote Suey o &) DRY Bt S ? .
2

P-T
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¥
irst term and the last term is 60. If the sum of the terms is 195, then

An arithmetic progression has 5 as jg ¢

the common difference is ;

0.8 woddt ) IO Do 5, D56 s, ) sore Ivdo Dend 195 B S0BLO |
11 2 o9 @) 7 @4 12

23.

Pt ____-‘_‘--"—I—\_-_‘L____-——
A piece of work can be completed by A, B ang  individually in 12, 8 and 6 hours respectively. All the fhree

worked for two hours.at which point of time C Jeft the work. The time (in minutes) taken by the other twi
to complete the work is :

A, B, Cen DEDEM 2.8 IAJ SRM® 12,8, 6 gopes® 598 SabKews. Kokt DS Bokb Hotes S BvI
3o C S60 I, DRDI 2> Ko1 ¢ 50 G Toerds $GS $Habo (MWL) :

24.

: BT, VPO @SS Z;ﬁ,}aﬁébés DS ergf S
23%

s e ——

3 N
A person sold 3 th of his articles ata profit of 25% and the rest of his articles at a profit of 17%. The overall

percentage of his profitis:

3
2.8 558 08D S &) BOHOS T35 Som, 25% B ST SHHOD 17% ogdoss

(1) 24% @) 22% @ 21%

In the figure given below, ABCD is a rectangle and CDE is a sémucircle. If the length of the rectangle exceeds
its breadth by 7 units and its area is 98 sq.units, then thearea (in square units) of the semicircular region
CDEis:

& (Bob H0o&® ABCD o8 BYSéEEin, CDE w8 eHdo. OEsed@sny & od ey Lol
7 Shrdey @@Eore éotwr, 98 SEBH dhredly Sevego £ a0l ®Hptd efdmesedo CDE (@ros Berexo
(S865 drdes?) : g o

E

D 1C

A —p
m 7 Y (o (4 @ 57 £ 77

26.

In a class of 30 students, 10 members of Physics main have average of 72 marks, 5 members of Chemistry
main have average of 66 marks and 15 members of Mathematics main have average of 80 marks. The

average marks of the¢lass is¢
30 08 derghes Koles S5K0L’, F88 TRO BeSore Ko 10508 Dghe SSs Setyen 72;

BRaDS F°Ro [Sepiore o 508 :)av,gddj)ué: Joe0 Srtinen 66; KBS Ko (BErsore Ko 15 08
Demgepe SO0 Epdipen 80. SEKOS® ol AR SoRO dntipen /
1 69 2 70 @ 74 3 75

27.

A car ¢omipletes a journey in seven hours. It covered ha!f of the distance at 40 kmph and the remaining half
at 60'kmph speed. Then, the distance (in km) covered is :
I S 28 (SatireeR) Db Hotdf rEBRD. ©8 Tts Srio LRy Kot 408.&. Jros'se, DADY

S0 5roeR) Kot 60 8.2, 3085w e TR, OYID, [HairBodS Imdo Erdo (8.5, o) :
(1) 280 (20 300 336 4) 420

P-T
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28.  The profit earned by selling an arﬁdelfoll;: 513?110 to make 30% profit 7 rred when the same article js sold for
¥850. Atwhat price should the article 5% ¥
w5 5% 2 1000% ey 3 6 < SHID TS o 53 5308 B0 30y @ S35
D 558 o8, ©38 30% ergo S3p08 ? -

1) 1100 2 1150 @ 1270

o ared gets i .
29. Ifthesideofa square increases by 21% then its ar' gets Increased by:

B S50 heost DENe 21% KA T g)"‘%o 6A -
1) 42% Q) % 46% @ Aﬁ]%

30. The distance between two stations A a'?d B 15 300 km. A person leaves /the station A to
reach B. He starts at 10 AM by car by driving with z;apeed of45 kmph for the first twothours and remaining
distance is covered by driving fastand reaches destNation by 330 PM. The speed (inkmph) with which he
travelled from 12.00 Noon to 3.30 PM is:

Bot PAK A, B o gy drso 300 8. A Dol achen 3o & 58 BR Sorosoird
B505H0 10 Kobo, Kok 45 8.5, 3K08° IO Bod Hove st [lsmdomrs, 3R 20D e

B (atrdon . 3309, o MR SOFTD. $.1200 508 3. 380569 68 Batdons

f;;%oué} 8.5 06 :
60 2) 65 @ .70 @ 75

31.  Alent¥ 5,000 to B for 2 years and ¥ 3,000 to C for 4 years on simpleinterest at the same rate of interest and
received ¥ 2,200 in all from both of them as interest. The rate of interest per annum is :

Aed 358 B8 2 Sod&ore® 5,000 03w, C § 4R0JH e T 3,000 okr 2.8 Send Horden 588 &)
2T, ©IVE SO Ango $& 72,200 wowd SoSHPOE @ 5§ Bew :
(9/ 10% @ 8% @) 7% @ 6%

32.  Person A completes a work W, in 6 hours whilé person B completes another work W, in 6 hours. If
W, is only equal to two-thirds of W, then the niimber of hours required for A and B together to complete

both W, and W, is :
58 A2S 5D W D 6 fovd Froddm HE'HE B HEES0 W, 6 Howd radadien. 59
W, 83 W, & Sirdlod Bots Sod Em(sdh soll; A, Beo afte K08 eBod Shose g Saneros
58 rowe Jogy: ; ,

1M 6 Q) & {g)/ 5 @ 8

33.  Five persons A, B, C, Dand E start a joint venture. Their investments are as follows :
B and C invest equally; D invests half of C and double the investment of A; E invests twice that of B. IfE
receives X 24,00,000 as his share in the year-end profit, then the total profit (in rupees) :

0&orbd S50 A, B, C, D 00 E en 2.8 sl o (Fr8odomrd. 8 digethen (Bod dFore
aIHow :

B, ConSiimorr ol A0, D 2upol C 2t diio 00 A Digols Bod; E2tgel Batgets
Oofiosen, RoBEI08 e%08* 224000005 E ?y" Srod, o orgo (Srrand)

(1) " 95.00,000 @ 54,00,000 @y 57,00,000 @) 7600000

34,  Aright a.rlgled isosceles triangle hag hypotenuse of 12 cms. Its area (insq. cms)is:
2.5 00 JDEERS (Behad) 880 1208, vy Save (5.%0.2D. odb):

m 12 @ 24 /a)}o 36 @ 72
___‘__-____-_‘_'_'_'—\—-—.__

8-D
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AR 1A gets 50% more salary than B, they

VB gets how much percentage less salary than A !
B0l A8 50N ddo daw &,

A ‘w oo QOO D0 “a)r:;\\_ "

3 pd ! -
(n 25 () .\L‘- ) 50 )

36 Byselling two items cach tor R 990, merchant pets a protit ot 10% on one and a loss of 10% on the ather,

The result to the merchant i this transaction is :
Lossof 1% @ Profitof 1%
d)  No loss and no gain @) 2\ loss

o dRQew afHEE Tooo § SN ol Y0 wED 10N evgo oo, DB @Y 0% Igo
SRR, B ovAVS' IFHIH SYY $0o -
(L) I R RSN )  1Neego
Q) I S, engar B (@) 2% SRe
37 Avillage whichiis recorded having population p_rm-\-th--ul'_ﬁ'\\ n;mnull_\- has population 18,522 at the end of
the year 2013, The population of the village at the beginning, of 2011 was:
B0 VoJYYBRwr, 5T wTPr DWDBO FAIFI wf (ot WY B, Sosdorod wargr 18,522,
7 2011 (@000 T8 » (e wIvgr
(1) 14,000 2) 15400 A) 15800 @ 16,000

38, Three cubes whose sides are in the ratio 3: 41 5 were melted and a single cube, whose diagonal is 24 /3 cm
was made. Then, the sides of the original cubes ares (i)
3:4:5 WYPS® ghassiven Ko Sovd H¥SvoH SHAOD, 24,3 Vo.db Ego Ko al HSSom Saind
Taoda. ePpd, Ide Q)N HFEwe Huson @Ho. . os’)
(1 121620 @ 91215 (3) 135,180,225 ,(45 15, 20, 25

39.  ABisa line parallel to the line PQ. 1f Cafid Dare points on PQ such that the area of AABC is ‘a’ square
units, then the area (in sq. units) of AABD s

K560y PQ 8 $3ross Bw AB. 39 PQ R Bothhen C, D eo; AABC Barego ‘a’ SK569 ahrdey ediytyol
QPO AABD Fereo (5559 srIged) :

a a
A a @ 3 @) @ 3

w |

40. AB=13m s the diameter of acircle. A manmoves from A in a straight line and meets the circumference of
the circle at C. 1f AC =5 ny, thenCB=
1 8m 2 10m A 12m @4 11m

B8 Hasn Buil) TS AB =13 D, e85 AT0d o SEESHD BasrBod {FS6E P Cod Dot
36T, AC=5 . ond CB=
1M s& @ 10 @ 1n2d @ 1.

41, T78400 was divided among three persons A, B, Cintheratios A:B = 5:4and B:C = 6:11. Then, the share
of Cis (in rupees) :
278400 S/t Shen A, B, Cob, BP0 A:B = 5:458a% B:C = 6:1106° S0 0838, e,
CEIPI Do (Erdraves®) :
) 31,200 @ 34,000 A 35200 @ 36,200

P-T 9-D
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2 + . N =12, thenavalueof xis:
x-1 x+1

B gD =12@m3x&n5&&§§}wéi

x - x+1
3,/1' 6 @ 7__#_*#_—(3) 8 @ 5

If

43,

If each side of a square is decreased by 25% then the ratio of the area of the resulting square to the/area of the
given square is : . B >

2.8 SBKHo (58 ghao 25% ag@_, g DBAD iéé?&gaugmé, 58 SHBER Feergds KDY
(1) 16:25 @ 4:9 9:16 @4 2°3%

Lets be 162% of 24 t be 331% of 9 and u be 20% 0f 25. If 5, t and u are the sidésof 4 friangle, the angle
5 3 ’ 3 '
opposite to the side of length uis:

246 162% 55 ©o. 96 331%0 ten, 256 20%0 usd GHEO8, s,¢, uekdebere SEHeore Ko o8
3 ! 3

(Bgheost, DD uKe ghad s Bo
1 30° 2 45 (3 60° /u/90°

Length of a rectangle is five more than twice its breadth. If itsareais 273 sq.cm., then the area (in sq.cms) of
the circle, whose radius is equal to the breadth of the rectangleis :

28 BEsHRo i R ey BEoPE) o DEYS. 0 Jerego 273 3.20.8. wowd, &
8 (5 Bey)d agRrgorr Ko HE JTee SRl o8 :
346.5 @ 12325 @) 140 @ 210

The captain of a cricket team of 11 members is 26 years old and the wicket keeper is 3 years older than

captain. If the average age of remaining 9 members is one year less than the average age of the whole team
then average age of the whole team is :

(1) 22years 23 years (3) 25years (4) 24 years

11 008 Heb5e0s ¥ BES RBD BRS Sabdy 26 Dey), ) I8 8§36 Babiy I Sabdy) Ko
3 BoBdyoren JEND. Do B)BYHIPI0 SALRY) Ko DADS 95008 ¥ghye JTH0 SaHy) e8 JoddyKo
B wons & Ino &0t VoD Sabi) :

(1) 22R058yoen (2) 7023 Sosdyoren (3) 25 Roddoren (4) 24 J03&oeen

47.

A person A starts a business with an investment of ¥ 1,00,000. After two months B joins with him withan-
investment of ¥ 1,20,000. After eight months C joins them with some investment. If the profit at the end of
the year is shared equally, then the investment (in rupees) made by Cis :

28 58 A, ¥(1,00,000 T::é.:gm&é‘ a8 TR (EoHoBd. Do Jov d$Hard T 1,20,000 1:&32:&8‘ B
28503, HVE Joo SOTE 508 Diypds* C o8 BdEORN. VoSHToSIY SO ogrd O
Ravorr BoEo8, C 2eRoldr 1A Avdo (rdrond?) :

(1) ¢ 500,000 () 4,00,000 @3y 4,50,000 (4)  3,00,000

48.

The number of digits in the smallest positive integer which is composed entirely of fives that is divisible by
99 is
s’ SHED DBE, 99 I grAosed 8% repols Somsd 80P TASN woBe Jowy :

9 2 12 @ 15 @4 18

10-D
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49.  Aroomis 5.2 meters in length and 2.0 meters in width. The least number of square tiles required to exactly
coveritsareais:
&8 1D Qo) BE5) 5.2 Dot H080tn oo 3kery 20 6L, & KB pEYSore SHEES Sotos® Somrecd
SPHORS oo Joyy :
1 96 (20 85 @) 75 }/ 65 ¢
50. If x = 03 thenx?=
1 =03 sodS® 2=
1) 03 @ 03 @\ o001 73 ¥
S51., “Aand Bcando a piece of work independent]y in 12 days and 16 days respectively. Théy worked together
for 4 days and B left the work. How many more days A worked to finish the work 2
&8 B A, BILIE S 12 Seven, 16 Sfared® 10 IdbKed. Belale = Beren 50 IS
S0 BSY S0 Igeth. DADS SN o8 Faherd8 A S awose IR Sevien BBol?
1 3 2 4 5 4 6
52.  Suitable term in the following sequence is : '
Bod evdEsnos® H¥8 ewans HEo :
X‘C? GIK, MOQ, ‘
v g -rt!:K 1\ q
(1) l:rgg1 (2) Ny (3) EE{Y ‘ﬁT 931 A -
53.  Inacodelanguage ARISE is written as CUMXK. Then theode of WORLD in that language is :
28 §°E grid® ARISE d CUMXK e 700, oJptd 4ra6° WORLD Gws) 595
(1) YQPJF /g YRVQJ ()  YSPIF (4) YRPJF
1
54. The rate of income tax is reduced to 125% ffom 16%. If a person has taxable income of
T2,40,000 then the tax benefit (in rupees) is |
et Sy Ben 16% SoD 12-%8 SJOTO. o B8 Sy IPoS Bf TRaBo 240,000 scd
S56° wrr(Erdrondf) |
(1) 4,800 @) 76,400 (3) 7,200 4 8400
55. A circle of 3 cms radius lies-inside and touches all the four sides of a square. The area
(insq. cms) of the square is :
3 %0.. avggo Mo wd HEo o SSHGFost se, oD ©d) aoeres 3) 985> @od.
& SHYERH Seveo (5.0, . 06°) :
(1 9w @ 9 G 18 ,(lf 20
56. By selling twio afticles each at T 480, a merchant gets 20% profit on one and foses 20% on El.ll; other. In the
total actionthe merchant gets: y o~V T
an | (2)  noloss no gain 2 e
§ 4 5% gain
@) +.5%loss ( ga
S5 T4808 @Dy Botd SgHop et GHIE &8RP 20% ergo, Tol® AP 20% Sgo IRoB. &
Swgo oorddE® W SHHIB SNIO -
b 2 S S, ervggsn S
M 453 e
@) 5% 8o ( 0
P-T 11 . D
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57.  Six people namely A, B, C, D, Eand F want tosit arpunda he"a_gonal table in the following manner.
A and B want to sit next to each other. Eand want tostt OPposite to B and A respectively. The number of
different ways in which they can sit such that abOV‘-;':ond'hUnS are satisfied is :

A,B,C, D, E £B0i F o etorot dgoen & 0rd3 GBS 0.8 Grgenses oy Dty EPENS BOTE.

A S0 B e .58 S8 SEL LTI, E:naiﬁn Fen S5 B sobatin A o St ErENSS8E:
& DHETOLIOEON Tt KRB HORR DETO VOB

M 1 2 @ 3 @ 4

58. A person starts walking from a point A towards South for 100 meters and turns left to walk 40:meters
East. Then, he again turned left to walk 60 meters towards North and turned left to walk 70 meters towards
West to reach the point B. Then, the distance between the points A and B is (in meters) {

28 358 DotsoD A 008 Bimo DD $EE Iser DY 100 ety SAoeE & sy T HON 40 St
ERGp DD SETE. DS EHDHS 800 60Dl agto 39 SBavE Y D JHH 80N
70 Snextly SESB 30y Doty B Boomned. APt Bothshen A, B 3y &0 (otré®) :
1) 90 @ 70 @) 60 @50
59.  If TRIANGLE is coded as USJBOHMEF then the word coded as TRVBSEis: g -
TRIANGLE 2 USJBOHMF re §° % TRVBSF e §°6 Savods sed:
(1) CIRCLE 427 SQUARE (3) - RADIUS (4) ROBOT
60. The area (in square cms) of an equilateral triangle of side 4 cms is :
4%0.5. gheso Ko Seridm (Beda Do (SB8Y Do.®E):

o 3 o 43 - RN @ 3

61. _IfS% of a property is ¥ 1.76 lakhs, then 25% of thatproperty (in lakhs of rupees) is:

25 6B’ 8% Dend T1.76 05w ©owd © 6RE 25% DS (ofe Erdrandt) :

1 11 2 9 @) 75 _ @)/ 55
Note : In questions 62 to 64 pick the odd thing out: '

B[S ;62 H00l 64 S8 Ko L;.’)ra’&oﬁe 38 SRR HBoSed.

¥

62.°'(1)" 0.000001 )  0.0001 @ 0.00001 @ 0.01

63. (1) POND @ ( AAKE @~ BRIDGE @) TANK
1)  Sob @ sy (@) 083 @ oD

6. (i O0Q @ KL @3 H 4 TG

65. The next term in the following :
Bod BE° SHard Do
3X5,5U7,7RIIN1013,
P 1317’ "2 138M17 3 13N17 4 13K17

66. Fill in the gap below with suitable number.
Bod 8RO 60»&%2 FrBosol.

‘3 ‘i 11
'Iﬁ 2% '112

& 5 ® = 3) £ @ =

o

2\

[ I 12-D
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67.  The suitable term in the sequence given below is :
Bod aR)d mmg;:of‘ %0 wow Kg .
OFLEG], FHK, GLL-_ Hjm
(1) HM @ HN /g{ GIL @4 GM
i
68. Iftwo cu!)es'» each of side 12 cms are joined face to face to form a cuboid then the surface area (in sq.ems) of
the cuboid is :
12%0.20.0 g0 o Botd 0 Sogresy S8 DE B8 5% a8 Berego (530 .06
() 1080 ¥ 1440 (3) 1460 (4 1600
69.  The rational number with recurring decimal representation 0.1 24 is:
4 41 43 47
Wz 30 AT @ 509
70.  The total number of squares in the following figure is :
& BIOHD &%) HBE*D Indo SHTRre Koy |
1 25 @ 26 & 50 4 55
71.  If GALAXY is coded as DXIXUV then the code word for STAR is:
. M
G;L{A;(Y&) DXIXUY e §°6 3ot oyt STARS &8 $to
(1) PQXN @ " PQXM (3 PQOX &~ Poxo
72.  Fillin the following gap with suitable letter.
$OGES wgses® 800 grhd Froosol
- w S
ADIP_ ,
®n X A2 Y @ U @ z
73.  For {&lnuinbers a and b, if asb=a2+b?—3ab then {1+(-1)} {J_ * ‘ﬁ} =
i35 Sowgen a, b o asb=a2+ b2~ 3aboasd wycd {1+(-1)}+{\2+2}=
M 23 2 35 @) 53 4( 59
P-T 13-D 237200
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Note : In the questions numbered 74 to 76, observe that each que:iihon(Q) is followed by two statements S, an-d S»
You have to decide whether these statements answer the quésti0n Unambigyously. Mark your answer as:

(1) if(S)) alone answers (Q)

() if(S,) alone answers (Q) '
if (83 and (S,) together answer the question (Q). but neither of these alone can answer

(4)  if both (S;) and (S,) are not sufficient to answer the question (Q)

SRS 1 74 %08 76 565 aR)s @Ehedt G0 BHQ) F TLT Jois G5S5Tes (Sy), (S;) o asG@EIS
HSQodel. &% agmgéguhoa@g,m' a® @’;;’J“Sa"e:éﬁ@:'noﬂ ﬁoagd SHoce JSHowohd B
BT :

(S1) S (Q) & erendityigd & siweriso (1) o ;

(S,) Sr(&3 (Q) 8 asarenSDB & Bagriso (2) o ;

(S1): (S5) £ Botr ©BKED SSFGRSYE, wotH6® D 2.8 asrails SE8 D Sdrerso (3) ed;

(Q) & $SEPEe5DER8 (S,), (S,) o Dotie 568ENB D Jdmerso (4 BBoSod

74. Q Is A a friend of C?
S) - A is a friend of B.
Sy Bis a friend of C. ‘.ﬂ
@ : Caadam? L.
S) B& ARretd.
S, C8 Byir.
75. Q Which number is alloted to the letter ‘5’ ?
S) The 26 letters in the English alphabetare numbered 1 to 26 in the order they occur.
S) Thevowels A, E, [, O, U are numbered as 1, 2, 3, 4, 5 respectively. U)
Q ®g50 'S’ 8 BeraodS Sogy A8 2
S) wolf ESroE’D 26 LEFHH ©D 6ozl EH06" 150D 26 H5H Jomgen SercnoT,
Sy - oR)en A E, 1, O, U o Sl 1,2, 3, 4, 5 Soggeid Seranometh.
76. (Q What is the area of the circle ?
S) The circle touches the four sides of a square of side 5 units.
S) The circle lies inside a square of side 5 units.
Q 58 Seesbo.?
S;) : o, 5 AFVE ghesoniv a8 SHBKEH areni® hedosr 9))8508.
S) : 580, 5alrdey ehaore el SHdHo S5%e Gob.

77.  Suitable wordsthat fill the gaps below are ;
School: ________:Students:: Hospital : — _____ :Patients

(1)  Teacher, Medicines )  Class room, Medicines
(3~ “Teacher, Doctor (4)  Class room, Doctor
(368 Brlod Frood $SBewS Smren :

DEEO: IR0 eS8 st

) ooryain, Hothe @ 65K KB, Sothen
G) adTymnm, oy @) S6r6 Ko, Do

&‘l‘ 14-D
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78.  Which of the following diagrams syjtg well to represent days, weeks and years ?
8ob Dred® DB Bleren, arowmy, S0 iyomes SrDOHLE SO JOMEL 7
) @D @ ® A @
__-_‘_‘_'—-—--__
79.  Fillin the gap below with suitable worq.
Fruit : Reap : : Flower :
(1) Grow (2  Fragrance (3)  Bloom @ Fa
Bob 5B VOGS HK08® FrBoSoA,
POIW : HoLko : : HA)o
(1) BKwO 2) Herdoseo @) QEdoSwo (4) Jorobo
80. Find the value of x.
x Do Kool
25 100 A
(1) 200 (2 210 gy/:zzs (4 230
81. Thevalueofxis:
x DD : \
3 n a o
[el8]o]x] [5]7[8lssl ~ pale]|7]18]
7 6 E3
1) 136 e 138 (3) 340 [CARTY
82.  If the following square i rotated thmviﬁh an angle 90° about O in the anticlockwise direction and then
reflected through alline parallel to AB, then the resulting square appears as follows :
(80 SEBRY O rHowe 90° w5 HIE* (§m0 3% 6 ABS dirodtore &) a8 By rome oo
83, &) Sesdo Bod dgor SR o
D C b
O e
A B 0
B e A P n
e @ w ©
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83.  Theordered pair (x, y) =
E5 asrfo (x,y) =
M (23 @ @3 @ @9 (4.2)
84.  Consider the following triangular prism ABCD. If three faces ADB, ABC, ACD are labelled as 3, v,z
respectively, then a suitable label for the fourth face BCD is
o8 @epersws Sio ABCD D Sinsfol. o0 & Sngreo ADBABC ACD o SEHre 38,1V,
o8 0D, Tod Sop@d BCDE S0 o8 &mdS
D
1V,
B
1 4G 4Y (3) 40 @ 4
Note: In a code each vowel of English Alphabet is coded to the next vowel cyclically and each consonant
is caded to the next third consonant cyclically. Thatis, A—E, E=, ...., U—A and B—F, G-K S-W,
cevy X53B, Y-9C, Z5D. The reverse process is used for decoding. Using this code and :
processes, answer questions 85 to 89, )
BoeSS 2.8 586" worf egsiros” (B8 emjir So8 e S8ahore S8 3N, (58 FepSr Sowsd
53) Sore® Srentd SEctore 56 Bovol. ©08, A-E,E-L ..., U-A; 0d50 BF, GK, 5,
...... X—B, Y-C, Z9D: 60 86%58 $5¢8e® 4-8%8oR Scoodod. & S'@oR, &-5%d
HEHORIENON 85 W00k 89 SBH Ko (Do =are0din. :
85. Thecodeword forBLOCKis; F PV
BLOCK & &% &t : Nz B
(1)  FPIGN () FPONG (3) FPEGN /“f FPUGN |
86. The code wordfor ARMY is: AV '
ARMY &% 5o : :
1)) VOCE (2 QCev ﬁ) EVQC @ VECQ bk
87. ThewordcodedasHIPLOis: 30 :
HIPLO e §°8 Sahods $o ; y |
(1) KOREA DELHI @) PATNA 4) KOCHI
—_—
88, Thecode word for JNTUH is:
8 8°E S0 :
) MRXAL @ MRXEL @) PIXEL @ TAXES
e — i
P-T 16-D |
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89. Thewordcodedas VIH is:
VIH re %8 Scoms $do -
(1) ROD RED (3) SET (4 SUN
. - ___---—_‘_‘--\-—_
90. Ifthe following equilateral triangle js -
p yar reflected about the angular bisector of C and then rotated through an
?;‘ cl::v}sz'oc about its centroid in the anti.:]:ckwise directigll:, then the resulting triangle will appear as
808 Hers @lﬁ:@&hcx}g 8 KBuwors B Home SorSESo Bobod 6 T BogEerselrbor
©53850¥6° 120° 8508° $0ig55omo B3 53) Bghmo (80b forr $okwod
A ;
B C
C A A B
NWANCIANCE,. LA
B A C B B C C A
91. A meaningful arrangement of the following is :
(@) rational numbers (b) inteégers
(© realnumbers (d).. natural numbers
(Bod T8 2.8 e850EDS elds
(@) @55 Soggen (b)  Fposeen
(© o35 Soggen (@) e Joggen
Choose the correct answe:é;fr/b@:ﬁ arEd) DODE Dabod :
® @ (. 0)(d) (d), (b), (). () @) () ®).() (@) @ @) ()
92. If R (n € N) is a rectangle of length 1, =%, breadth b“=n1~1 , then the sum of areas of
Ry, Ry Rygg S :
1 « et G, -
DED 1, =%, Scsed) by e e o 5%&5&6@0 R (neN)®and R,, R;‘;..-., R0 ® S&vere 3wdo :
\,
% 101 100 PR 5’<
M o0 @ 700 ® 0 99 7
93.  If the folloWing square is reflected horizontally and then vertically, the resulting figure is :
(Bob By 48 Simostore SovSEto b 6 auiupor JoBgse Sabm $i%) S%EEe
03 [] - = $
LiLI BT
PoT 17-D i

www.sakshieducation.com

Scanned by CamScanner



www.sakshieducation.com

W T tollowing squares of sides each 2 cm are used 10 10T A rectan gy 4 parallelopiped with base A B¢ [

L E, then its volume (inem ') is

B0 oo 2750 8.1 Ko (B0l SBA0E® .8 BEYE SOBY ABCD 1§ werbor, 8%rts Stors o
DI HOIPEo (o.M Y eed) -

S

M 8 @ 16 . @) 6

The following table gives heat index h = h (T, H) in terms of temperature T¥F and humidity H%. Observe the
table and answer the questions 95 and 96.

oS T°F, 3% H% o6 agovdo h=h (T, H) D (od SQE r0Rod. IQEDH ABI00 95, % Fdob
wrmw ol

H ;
50 60 70 BO 90

90 96 100 106 112 119

94 104 111 118 127 137

98 114 123 133 144 157

100 119 124 141 154 168

95.  When the tempgrature is 98°F, the average rate of change in humidity is :
aQP/rs 98°F mARYPD, 8 6° Jrew dndyBen :
(1n .14 @ 150 ;a( 1.075 @ 175

96, Whanhumidityiswi.thetvengenteofchnngeinbmpenmis:
B 80% M &P SPNSS® Srew SrcipBen, -
m 4 @ 42 .4{) 43 @ 44

P-T 18-D
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Note: A survey conducted on 10p students with regard to their sports activity revealed the following
information: lgvery student wh, participated in the survey plays atleast one of the three games
Football (F), Cricket (C) ang Volleyball (V) ; 20 play only F;30 play only C; 25 play only V while 5
play all the three. Moreover, § play both F and V but not C, The number of students who play both
Fand Conly is same as the Number of students who play both C and V only.
Using this information Answer the questions from 97 to 100.

S eLoS $onoBod 100 %08 oz, wobis 13y Bob Sirmra Qe Ihod : #E° FEY
©0 oy HorBolS’ Eh%0 OEF ¢ i whars. ©D PSS (F), E35 (C) H0ak S0 (V).
20 %08 F Q S VOB 30 %08 C SPED etbarsy; 25 508 VR Sr|ded e8avs, s
5t Sardodd edarts, gpoagug' C 9 etione FSodn V o eaart 8 508k F, Ce» Bolodd
SrEd o Qg [ogy 5 C, V en Bolodd Erdd el dse SopgH WeSa.
& DoY) AIBRACD (80 97 Kol 100 S8 Ko HHOD sarew abes.

97.  The number of students who play atleast two of the three games is :
St wed 800 Bo8oBR 2 e Sogy :
Q

1 22 @ 23 @ 24 @ 25
98. The number of students who play Cis:

CR &3 drmgde Sowy :

1 45 46 @) 47 @) 48

99. Inall how many students play V ?
oo D& dod Lod z)m;g?m VR eded ?
) 44

1 42 @) 46 @ 40

100. The number of students who play F and C but not V'is:
F, Cod otodr VI etd ?4353@ oy ¢
)

(1my 3 4 B 5 @ 6
101. Match the following :
List-I List-1I .
(@) Mycology (i) study of pollen grains
(b)  Palynology (i) study of treatment of tumours
()  Oncology = (iii)  study of fossils of animals and plants
(d) Paleontology (iv) study of fungi
238580 :
o - 1 o -1
@) Dsed () Hoei Sewvide wgganio
b  Adzod (i) 256 8 Sowofodie
(). Gosvod (i) Berere 180D egsadso
(d)  Hocsrotred (iv) B0olgre oD eggabiso

Defoectmahol MBSBECERT o i
1 - (i), (b) - (i), (<) - (i), (d) - (V) ReeLile A=A, (€)= 1V (0) -
B O e @@ @ @-0.0)-6.0-, -G

oy 19-D
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Match the following :

List-1 List - II

(Plant) (Edible Part)
(a) Potato (i)  Swollen thalamus
() (i) Vegetativebud
© Apple /’ (i) Modified root
(d)  Cabbage (iv) Modified stem
& 800 DD 2ESLHSD |

efar - | edoe -1

(S5 (B3@rr{RS Frrio)
@@ =orreesos () afd HaHIIE
b) oS (i) oHad I
OIS (i) GrIrosbo J083 IB
@ =3 (v) Brdrodbo 308 SPoko

The correct match is/=8 $8&S &£°03 :
41’)/ (@) - (iv), (b) - (iii), (c) - (i), (d) - (ii) @ (a)-(m), (b)- (i), () - (). (d) - (iv)
G (@-(), (d)- (). (c)- (iv), (d) - (iii) @) @)=(u), (b)-(iv), (c)- (i), (d) - (i)

103.

Aqua regia also known as royal water or king's water which can dissolve noble metals gold and plati
is a mixture of :

(a) Hydrochloric acid (b)  Nitric acid
Hydro bromic acid (d) Sulphuric acid
The correct answer is :
(1) (a) (b)and(d) (2 <(a)and(b) (3) () (c)and(d) 4 (). (b)and(c)

poresSn $bdn FBIDHODH K6AosKe ad P06 Soo 8off) wbr Dendeod wsx 34dd
{FSoo :

@ 508 expiw b) 3OS esiso
@ TEE D8 D @  SeompS e
FOFS SECEHE -
(1) (a)(b)Bam(d) (2) (a)DBaso(b) @) (@) (QDB(d) @) (a) (b)SBaD) |
104. Household refrigerators work on the principle - j
(1)), Peltiereffect (2 Seebeck effect
Joule Thomson effect 4)  Photo electric effect
20£6°0 BDECLE SIS dborH Ke Sgo -
(1) Ravs oo @ 538 3080 |
@) &S oSS Hosin (4)  so08 g $00 ;
— e
|
P-T 20-D ;
|
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105. Heparin is an anticoagulant found in blgg and it prevents blood clotting within blood vessels and it is
preduced mainly from

)  Kidney (@) Pancreas (3}/ Liver (4)  Spleen
T30S $Eos” ot &8 (HBR)oES Sorgiso. 20 852 BET oS’ KESE Hooe aotbé® B eEsRs.
a8 Soggore & $ol SE[0K |
1) HHso @ Soonw (B) sdabo @) S
106. Identify the correct statement :

)  The resistance of a metallic conductor depends on the potential difference across the conductor.
(2)  The resistance of a metallic conductor depends upon the direction of the current in the conductor.
(3)  Theresistance of a metallic conductor depends on the length of the conductor.

(4)  Theresistance of a metallic conductor is independent of the temperature of théconductor.

Bod BS® BOIE TgFD HB0S0A

(1) 28 E5H FES ) Whkn e Hotfy HF) PLYHS oo 2 eEREHE Hool.

@ o8 &FH TEES Tof) VG st (50D DS (Bt BY P BERESE Hokod.
(@) 28 & PSS Ef) Wiy o) eGP GTEHE Hotnoh.

@) 28 SFrH LS k) E%Ew PRSP STBHE HoLs:

107. Match the following:

List-1 List-1I
(@ Glucose (i)  Polysaccharide with Nitrogen-containing carbohydrates
(b) Starch (i)  Monosaccharides
(c) Maltose (iii) Polysaccharides
(d) Chittin (iv) Disacchafides
23808003 ¢
=oAL L | &dar - IT
(@) rxs*E () BSES 50n aX) FOFLDE =B)TFEH)
b *H (i) ¢ ISFERE)
© &R (iii) . FOPEDE)
@ 288 (v) 2>sBE)

The correct match is/ 26 30 &80 :
(a) - (i), (b) - (i), (c) - (i¥),(d) - (i) @ (@-(iv), (b)- (i), () - (ii), (d) - (i)
B)  (a)-(ii), (b) - (i), (c)4(iv), () - (D) @ (@) (i), (b)- (v), (c) - (iii), (d) - (i)
108. Identify the correct statements: T
(@)  Late blight of Potato disease was the causative factor for the ‘Great Irish Famine’ of 19th century.
(b)  Brown spotdiseaseof rice was responsible for Bengal famine of 1940's.
()  Theinserted foreign gene in Bt cotton offer resistance to bacterial diseases.
(d) Crowr gall i a viral disease.
SODoS gasetbosod
() 195 dErpd B8 00R P’ © SPBEPHY) DOMFPPHoSDH SO B B &S 6.
(B) (1858 B Sord By e, 1940 BE506° SO BorrS EHHE seBm0.
(@, BtOBS® ($T80HS edgudyd (foreign gene) erfBchS rgrheol B SODR0B.
(d) ESmS 030 o8 38D T56-
The correct statements are /380 TFZATED
(1) (a).(b) @ ®.© £ (@) @ G

P-T 21-D
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109.  Which is correct in the following ?
Inan electric circuit -

(1) Ammeterin parallel and Voltmeter in series aré connected.

(2)  Ammeter in series and Voltmeter in parallel aré connected.

3)  Ammeter and Voltmeter both are connected in series when the voltage is small.

{4{ Ammeter and Voltmeter both are connected in parallel when the voltage is very large
& Bod VS DB BoEHEe ?

2.5 DSogtrocind® -

(1) s SSrosborrs, Sepdowrthd FAEE5 50D Hotraw,

@ odpps @FE6%, S SErosiord $0b Joerav.

@)  S'Ba Ssme afps ey, Sede Botr 386 50% Hokran.

@) 588 o DS &H[PO e, Sendotsth Dotk HimostonR 08 Hotrow.

110. Identify the correct statements from the following :
(@) CFCs are responsible for depletion of Ozone layer.~
(b)  Water vapour, methane, COZ, CFCs, nitrous oxide are‘green house gases.v~
() TheBOD value of pure water is 100 ppm.

808 B SBGE DSBHOH HHODHD.

(@) &&°S D8 SKrdtes CFCen s

(b) 8 DB, MBS, CO, CFCen, IR eB)E 0 (AS F°H cimwe.

€ &G 5& BOD densd 100 ppm.

The correct statements are/ & SS3SP0é® 0D [OGID ?

1) (a)(b) 2 @) 3 @ b)) 4) () (c)

111. Which one of the following combinations are appropriate ?
(a)  Barley, rice, oats;jowar
(b)  Flax seeds, almonds, cashewnuts, walnuts
()  Flaxseeds;oats, corn, ragi
(d) Oats, corny ragi, jowar
) @édp) O BEmd@ @ @Oadd @ (Qandd
& (BoBTVE DO JEVDSDI Halykso ?
(a) e, 58, LtSen, E°%)
(b)  ®ddew (Flax), erdo, AAISp, E:565en
€ ©ddeo (Flax), &85, SoHES), oon
(d) L&, IHER), oA, &)

(1) (a)0a(b) ) (b),(c) >Bas» (d) () (a) (b)baw(d) (4) (c) SoBcd (d)
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112, Match the following :

List-1 List-11
(@)  Aspirine . (i) Cyclotrimethylene trinitramine
(b)  Muriatic acid (i) Acetyl salicylic acid
(c)  Ibuprofen (i) Hyd;-ochloric acid
(d RDX (iv) Aryl methyl acetic acid
3 SHBOHIW ¢

eloe -1 erdoe- 11
(@) ©NOS ) 80308 (BILDS
L)  Ss0aseBE sspo ()  ARBS FPSHOE o
© =ar@®s (i) FRESFOS o5
(d) RDX (iv)  «BS DFS IVAE wfpo

The correct match is/ a8 $0&S &%80%) :

(1) (@)-(iv), (b) - (i), (c) - (ii), (d) - (i) 2 (a)-(iv), (b)- (i), (¢) - (i) (d) - (1)
‘(3)’ () - (i), (b) - (iii), (c) - (iv), (d) - (i) @) (a)- (i), (b)- (i), () - (1), (d) - (iv)

113.  Which of the following are energy giving molecules ?
(¥  Carbohydrate, Protein and Lipid
(2)  Carbohydrate, Lipid and Vitamin
(3) Carbohydrate, Protein and Vitamin
(4)  Protein, Lipid and Vitamin
& BoBarAE° €80 5D) LenHOH HBoSS
(1) sEYREES, DPES Sobckn OBE
2 sBNTEES, OBE S8 DS
(B) sEYTES, (DB H0cin DS
) (S, OBE HBAD DOWS

114. Match the following :
List-1 List-11
(@)  Chernobyl disaster (i)» ~ Peroxyacetyl nitrate
Chlorofluoro carbons

(b)  Bhopal tragedy (ii)
() Ozonehole (i) Radioactive substances
(d)  Photochemical smog iv) MethylIsocyanate

& (808 T esi.‘é:wda‘)é» :

eedae-1 adoe-11
(@ 36H36 958 () DrYedDS JBS
b) &S ddto M) 5P sgSen
(© &8 dogo (i) BAGrEOE dorgren

() 570B5Rans 8GR (iv) S oRFRIS

The correct match is/a8 $0@S &80 :

() (@)-(iv), (b) - (iii), (c) - (i), (d) - (ii) (2)/ (a) - (iii), (b) - (iv), (c) - (i), (d) - (i)
@) (a)- (i), (b)- (i), (c) - (iv), (d) - (iid) @) (a)-(id), (b)- (iv), (c) - (i), (d) - (iii)
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115. Read the following statements :
(@)  The biochemical events in the ‘Dark Reaction’ of Photosynthesis occurs in the absence of light.
(b)  Theloss of water from plants in vapour formis f eferred to as ‘transpiration’.
() Consumption of transgenic ‘Golden Rice’ prevents development of blindness.
The correct statement /s is/are :
(1) (a)iscorrect but (b) and (c) are wrong
(2)  (a)and (c)are correct but (b) is wrong
(b) and (c) are correct but (a) is wrong
(4)  All(a), (b), (c) are correct
& 8ob (B5Irer egiabto Saod :
(@) SSmaly SoFrK(EHetd AANo8 SC F0ED LSEIAHS ey 520B885HE>
aborbacow.
() ©dBErHoE® Inge ol A FehHe TR0’ sotrt.
(€ eRgBI0S FPBS BY & 8o S woEEn VB)HE ITBoBHHEOR.
& (HSSToE® DB/DD VOISR :
(1)  (a) NSOGB s°R (b) SO (c) SOTHHD S°H
2) (a) 5B (c) SOGID oD (b) SOFKE S
(B)  (b) BB (c) SBTID 5D (a) SOTIO SH
@) (a), (b), (c) ® JB@BD
116. Examine the following statements about ‘Indian Science Congress' :
(a)  The 104" session of the IndianScience Congress was held at Manipur University.
(b)  The theme of the Indian Science Congress, 2018 was ‘Reaching the Unreached Through Science and
Technology’.
() Indian Science Congress, 2018 was held during March 16-20, 2018.
Choose the correct answer :
(1)  (a)and (b)only (@)  (b)and(c)only
@/ (a)and (c)only 4 (a) (b)and(c)
‘P8 8 seoiR ) H0w0B00S 808 eores $88D0S08
(@ &5 28) SOES @) 1043 LS D5 dEDmsabos® edRod.
b) ‘wosSEH J6D Paed /(oo 2N) S8aw Bsvpd oxoe JBES’ ©F 355550 (60)8° gruss
28) s20(0R, 2018 JErSacen 236ma,
(©) £ grB8 X)) s°o@R, 2018 XS &rG) 16-20, 2018 seecd® WOAOB.
HOEoD ey JodE Savol :
(1) () S0 (b) Sr@D @ (b)SBds (c) SrED
()  (a) SO (c) SrED 4 (), (b) B (0)
P-T 24-D

www.sakshieducation.com




www.sakshieducation.com

117. Match the following :

@
(b)
©
()

Institution/ Council/ Commiggjqy,

Director General of Indian Council of World Affairs
Chairman-cum-Managing Director of NALCO

Chairman of Payments Councij] of India

Chairman of National Commission for the Protection

of Child Rights

208 A adi5So4

(@)
(b)
©
()

B0/ TS/ SWES

208aHS NS ©H 388 08 EBEE wdvs

T BYS-85H-HIRoR Fogs
Do) TYS 6 B0l FGS

JLS EAS HB 6 TBES oF 38 365 © BYS

Officer Name
(i)  Vishwas Patel
(i) Tapan Kumar Chand
(i) T.C.A.Raghavan
(iv) ShrimatPandey

(v)  Stuti Narain Kacker

®HsD D
() Q=R 586
(i) S3F B8 Bob
(i) &.8.0. TS
(iv) < @& Seot
(v) (538 Troechd 856

Choose the correct pairs/answers/ S8GS adeiH / aarani JoDHE Bakod :

(M) (@), (b)), ()-(), (d)-v) 2 @-(v) @), (c)-(iv), (d)-(ii)
@) (@Hiv), (b)(iii), ()-(1), (d)-(ii) @  A2)-(1), (b)), (c)-(iii), (d)-(v)
118. Match the following :
Central Government Scheme Launched in month, year
(a) National Rurban Mission (i) April 2016
(b) Pradhan Mantri Fasal Bima Yojana (i) February 2016
() Pradhan Mantri Jeevan Jyothi Bima Yojana (iii)  July 2015
(d Pradhan Mantri Kaushal Vikas Yojana (iv) May 2015
808 B 2ssGSs ¢ .
S0l (Hgody S¥o woosnds e, Hon
(@ TS BK5)S MwAS @) DS 2016
b) (Berd D@ FHS Hioe Boeasd (i) 56 2016
© oS Do@BSS &8 Hir Ered (i) es~B 2015
d) (S8 DB THS I Brad (v) 2015

Choose the correct answer// pairs, S0gn% esae0iD / 280 Jods Fabod :

®

(@)~ (i), (b) - (i), (c) - (iv), (d) - (i) @
(a)- (i), (b) - i), (c) - (iv), (d) - () @)

(@)~ (iv), (b)- (i), (c) - (i), (d) - (i)
(@) - (i), (b) - (1), (c) - (i), (d) - (i)

P-T

25-D

www.sakshiedueation.com




www.sakshieducation.com E

119.  Examine the following statements about Para-Athletics §ames ;
(@  Deepa Malik won a gold medal in the F 53/54 CA1€80Ty Javelin event at the World Para -Athletics
Grand Pix held in Dubai in 2018.
(b)  With this win, Deepa Malik became the world number one ranker in the F - 53 Javelin category.
(€) 2018 Asian Para-Games are scheduled to be held in India in October 2018.
Choose the correct answer :
(D (b)and (c) only () (@)and (c)only
(a) only @4) (b)only
Po-0BBE) 1K) %8005 80b womed 30800508 :
(@) 2018 6° therond® wbAS (G0 For-wFEE) (Tof B8 ews® F53/5480N0 &S00 &Bo56*
B S0 Ky HESY) FH0D08.
b) & DecH08® B $0OE F- 530S Deriiod® B50s Sowb $§(1) T FHoDoB.
© 2018 6daHS For-Af) eeb 2018 6° FESEISE atiiberc:
DOGS a3TreN JoDE IaHod :
(1) (b) 0B (c) SrEad 2)  (a)0Bcio (¢) drlEad
@) (a)dmSD @  (b)SmD
120.

The Supreme Court on June 5, 2018 allowed the Indian Government to implement the reservation in

promotion policy of SC/ST employees in accordance with the law. What is not considered in the judgement
of the Supreme Court from the following :

(@)  The policy must be in accordance with law.
(b)  Thejudgement says that the state should make out a case based on quantifiable data.

(c)  Thereservation should not be logked into based on the data like backwardness and overall efficiency.
(d) Comply with Article 16 of Constitution of India.
Choose the correct answer :

(1) (@), (b).(c)only ‘(a( (b), (), (d) only
() (c)only @  (b).(d)only

SL05% @ordroN® (HEPS Fabirdo 28 5, 2018 883 6" M0 DLH0S® Ert 5.2, /058, BaiBKS
D) SSTAEIE BHHBoN0Y. 08 DHdiTres® DB/ BT TyehaEso & driys® JBes ?

@ (eds derdo Shbers Hored.
b) & 85y (BsS0 S0IPTHE SErodo (er) wersorT oo 8RS Agabo 8xstad,

(€  JbserendSo, Indo ro Ho Savodo () sgrdorT BB SPETRED BOHEDOB
(), 8P5S8 TrargoiD BRES 165 SHVBT wikdBoTd.

HOIES aaranid JodE Jahod
(1) (a), (b), (c)SSD @  (b),(0), (d)SmEs
B @D @ () (@)D
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121.  India’s rank in the ‘Global Environment performance Index’, 2018 was 177 among 180 nations, Identify
correct statements in this regard
(@) Itwasreleased by ‘Down tq Earth’ Magazine.
(b)  Itwascompiled by ‘State of Ingja’s Environment’ 2018.
(€)  ‘StateofIndia’s Environment coyers diverse subjects from air pollution to environmental ¢rimes.
(d)  Thetop five countries of index in terms of green rankings are Switzerland, France, Denmark, Malta
and Sweden.
Choose the correct answer :
M @OOW @ @b, @y 6 OO oy  MEndonly
oS IYSHS BUYYT) 2038 20186° 180 Bews® GrsEBES voH 177 HQoeE. B8
RoLoRODY VOEN DHIBeeH HB0SA
(@) & A0 TR & Soge8S (‘Down to Earth’ Magazine) Dxse B%08.
®) B RS &F 3080TT NSRS 2018 HoswSo S0,
© O 85 28R IR Dotn’ I8 womed, MO FOe ol ISt BH S8 Y
ool H040%08.
@ & &rDS° IBd wantd el woll (AS ool SFoad Saven D508 BLTof, (F°F), E35rE),
S, DS,
HOTDS esarenid DodE TBahod :
M @O @ @O OED B 00 DIED @) (a) (d)SESD
122. Examine the following statements rélated to national integration :
(@) Preamble begins with ‘We theppeopléof India’.
(b)  Directive principles of Indian Constitution direct the states to take steps towards bringing equality,
justice, liberty to all.
Choose the correct answer :
(1)  Both (a)and (b)are correct (2)  Both(a)and (b) are incorrect .
( Only (a) is correct (9  Only (b)is correct
2PBAD JHS|KSL HooHodS Sob worOd H08DoNoA
@ s grbEsE Havosto’ 8 erds cerson (B388 (Do) AnBeHEod.
(b)  grE8 Do NG8Y (sB8E) SrEred wotsd8 BEmSEo, Fabo, gy E0B AU SHgL
88 el g eB8F0n. ' '
POGHN Barand dods Sapod
(1) () B (b)Bokr HOBND (@) (a) 3Bk (b)Bolr IO s°
@) (a) s $6@S0 @) (b)SrED SOGHA
P-T 27-D
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123.  Examine the following statements :

(@)  Governor's rule has been imposed in Jammu and Kashmir in the third week of June 2018.

()  B.V.R.Subrahmanyam was appointed as the Governor of Jammu and Kashmir.

(©)  The Director General of Police of Jammu and Kashmir isSP. Vajq,

Choose the correct answer :

(1)  (a)and (b)only 2 (b)and(c)only

(3)  (a)and(c)only @~ (a),(b)and (¢)

808 worrod H68DoSos :

(a) edoy-soB)F & KSGE eSS 20182~8 Lrdd E06° Dgozete.

(b)  esom-s8)B KSGE B.V.R. jpege Aahotarrd.

(© wsoy-sB5 ovapR8 SP. 35 086 wxoS 6l 0T m e,

DOGHS aarenn JodhE Tahol

(1) (a) SO (b) S\ @ (b)0as (c) &FED

@)  (a) 0B () Em(@ad 4)  (a), (b)anlaiv ()
124.

Which of the following statement/s is/are not correct as per the ‘Andhra Pradesh Reorganisation Bill -
2014" ?

Polavaram Irrigation Project to be a National Project.

(b) Hyderabad to be the common capital for Telangana and Andhra Pradesh states for a period of ten
years.

()  Governor to be common governor for both the states.
(d) Common High Court for both the states for a period of one year.

Choose the correct answer :

(1) (a) and (b)only (2 (b)and (c)only

(3)  (c)and(d)only @ (d)only

‘wolHBE HIB S5ShESE Sigo 2014’ Heebo & Bob (HBSIEVOE* DB/DD WBewSB/D wi ?
() Dot FHNB (FELS ebad FBGe SOKATE.

b) weol, Sodms ak oclpeds rEorerd: &Syl CREAM™ I8 SodIore SEKH
[-TelS el

(© Totd crEFe o8 KSGG dotrt,
(d) (28 $0S3B)BH sP00 ren Botd Tl O asys FER sotod.

SO araid JodE Savod
(1), (a) O (b) &rdD @) (b)SBdsw (c) SmED
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d the final extension of tenure of the Commission constituted to
within OBCs in the central list. Identify from the following what is

125. InJune 2018, the Union Cabinet approve
examine the issue of Sub-categorization
not correct in this regard :

(@) The Commission is headed by G. Rohini.
(b)  The date was extended upto 375t July, 2018.
() TheCommission Was constituted under Article 340 of the Indian Constitution.

(d)  The Commission was supposed to give its report originally by 20t May, 2018.
Choose the correct answer :

™ @) () (d) @ @, 0)( only 9)/ (a), (b) only @)  (d)bnly

25 2018, & S0l LOBDOLD £.8.8. $5-gepESS © JowoGod Jonks IniEDAT(E0R) EvE)
SOBBLBY DZOFD FENOHK> siiHBoDos, A28 Sowosodi BOmD HrerEom HEoSOA :

(a) & $ES 2 & sixtiost i,
(b) & EWET SPD0WB 31 a7, 2018 S5 FBACTE.

(©  ar8S orargoro® eBES 340 8o & 58S Lg%E00Snl0l.
(d) & SRS S OV D 20, 20185 wFed S0B0G.
S0 aarad JodE TaHod

1) (a)®), () (d) @ (@ b)(&msED @), @b ErED @) (d)SeED

126.  Which of the following statements are correct about GST ?

(@)  GSTis to be collected at point of Sale.

(b)  GST abolishes all direct taxes levied in Indiage

()  Implementation of GST was started on1* July, 2017.

Choose the correct answer :

(1)  (a)and (b) only (2)  (a)and(c)only
(})/ (b) and (c) only @ () (b)and(c)
GST & S020809% 8of BS° $330 2D ?

(@) GSTQ eiyse =60 BB Fos® Simen BB

(b)  GSTgrss3d08™ o) (B Ssgem 8 Tkod.

(©  GST %8 1,2017 $008 eS8 5Q)08.

SO 22a®enid DoDE SdHos :

(1) (a) S0ak (b) Sovesad (2)  (a)&Bcio (c) S
3 (b)SoBaw (o) SHEH 4)  (a) (b)datio (c)
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127. Based on the Indian Air Force (IAF) order in [?cf‘t‘:lh' 2016, the Supreme Court ulphe_ld the order op
banning the beard to Air Force personnel. [dentify the correct statements from tl.te fol owing.
@  Article 33 of Indian Constitution gives the authority to Government of India to restrict F“"“"‘“mw
Rights i . -
(b) Thgt?'!'n! ::;::::;: i:::othmg to do with religious sentiments.
(€©)  OnelAF personnel appealed to the Suprem® (.:mm onthe matter.
(d)  Supreme Court upheld the order of IAF banning the beard to IAF personnel.
Choose the correct answer :
M, @00 & 0.0 @ony
(a), (b) only 4 (©).(d)only
E20eb 2016 &6 g5 (HES THEOLI0 I 85)6° eros arn o enbBdY ’:5 a8i%
$EQ0D0B. & ety Esbo oS JErE 5606° 5355 degod rgssH> VoSTEd. 58 Sosogors
VIS egpgoH (DIBmeD) JobE Sapod :
(@) erss U‘E‘"a‘oﬁoﬁea 33 % ggéﬁ oo e @@5‘535 éﬁr&)é BEos® 3930 =0 Ajdbost
SSIES ot FEDE e DaboS” SAS oo 0TS
b) & dposted HESEIS DeRrI8 Jowodo 8.
© B9 DRaHD e grdS V8 G Deod eSS (Serd FyorT08 DoRgcd SR,
) 89D Bors auohyso, wEs ERVE B¢ efsdes aQyd KEgSOD OSTER) ASExH
ééngo{)o&.
JOIS aarmd JodE Jabod |
M @ b)), (D) (B, (). (d) S
@) (a) (b)EmESD @ (), (d)Srgd
128. Examine the following statements abotit 2018 Wimbledon (women’s singles) tennis tournament :
(@) 2018 women's singles Wimbledof ténnis tournament was won by Angelique Kerber.
(b)  She defeated 36 years old Serena Williams by 6-4, 6-3.
()  The 2018 winner, Kerbefja 30 year old German, was 11" seeded at the start of the tournament.
(d) This is her first Wimbledon title and third Grand Slam including Australian open and US open in
2016.
Choose the correct answer :
(1)  (a) (b)and (¢) only (@ (a)and(d)only
(a), (c) and (d) only @  (b).(c)and (d)only
2018 DomeS (irgo dohd)) BYS S*GBolp S0b ISEHeD (sowre) 36800508 :
(@ 2018 HrEo Hohd) DomeS BYS S°G)otSSH JoadS BYF AerHHod.
(b) 865058 r0 0T ORI 64, 6-3 BeeS® 3G)6 £.80000.
(© 2018 DomweS e DB, 30 SoSEmyore alyS eows 3GB & SGosS sbogod® 11 S HEm
dolob.
) =6 eIH ILINGE JoweS BAS 2O 2016 6 FGODI BRI LS, 0.6, LS &
SenHEol HrEsS ol PH eHHod.
OGS arad Job¥ Sabol :
1) (a), (b) 5B (c) S @) (a)Bdsm (d) SnesH
@) (a) (c)SDBaim (d) S @) (b),(c) 5008 (d) S
P-T 30-D
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Examine the following pairs . WWW.S@kshieducation.com P

Author

(a)  Sourav Ganguly A A B'wk T:le
(b)  Shashi Tharoor ) A;::n :;dm Enough v
; of Freedom
()  Sanjaya Baru )
(d) AmartyaSen mmdmpﬁmehﬁmster:me Making ......... v
Choose the correct pairs / answer . The Idea of Justice

A (@), (b)and (c) oy

() (a).(c)and (d) only (2  (b).(c)and (d) only

)  (a).(b)and (d)only

808 wdoid 38800508 -
SSand X
2380 B (woffod’)
(a) P63 Koo 3 2o
NOS0 &f =45 D55
{b} ﬂﬂm = afgﬁa@@éo
(€ Rozdd 2% "

) ol 35 - & olat oS =85

1) (a), (b) & (o) SHSD @ B )BecD (d) 2D
B) (a) (c)=Bak (d) 58D @ (@), (b)dsc (d)smsD

glo ?e Swac:thS;nfelln?han 2018 rankings aniouficéd by the Ministry of Housing and Urban Affairs,
ernment of India; in the category of ovér one lakh population, Greater Hyderabad, Warangal and
Karimnagar secured the following rankings - t ?

(1) 22,49 and 76, respectively 2 27,31and 73, respectively
(3) 38,47 and 85, respectively )  27,38and 77, respectively
1y BB e IgSFro HolSe TP, 08 346507 (BSB0SEES ) SHEE 2018 o08cRyst
Mw,mmmwtwogmmsmwﬁoém@m
SiPyom ?
(1) Stosre 22,49 25865 76 Q Sode 27,3100 73
B) Db 38/47 LBk 85 (@) S50re 27,38 58k 77
131. Whjchﬁwtrumﬁuwaspmdwdbyblmdmgh\dianVeemandhaIﬁanTambma?
(1) Guitar (2 Violin #  Sitar (4)  Mandolin
mmmm@msmm;mémmmwgm?
(1) . AexE 2 @05 () %&b (4) SPo&~0§
P-T 31-D
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132 Assertion(A):  The British East India Compary was established in England to have trade relations
with India.

Reason (R): The balance of trade with Englﬂ“d was always favourable to India.
Choose the correct answer
(1)  Both (A)and (R) are true and (R) is the correct explanation of (a),
@  Both (A)and (R) are true but (R) is not the correct €xPlanation of (4
(A) is true but (R) is false.
(4)  (A)is false but (R) is true.
(BB S (A): grSEBE08® argRrto Eyel-d aoﬁow L &) molaire S8 Josnw a‘é"“"m’m'
Sbesn(R):  mopot 88 myEin QLR U8 BERS ovgdAm ESIND:
R[OS aarand Jod Babod :
(1) (A)S0Bcko (R) oo Desiso (R), (A) £ KO De3.
@) (A) B0 (R)Boto Desiin 5o (R), (A) £ HOFR e st
3)  (A)dew, = (R) 33,
4)  (A) 8, =0 (R) desiso,

———

133.  Who among the famous industrialists served as Treasurer of Indian National Congress for many years ?

(1) GD.Bira () JamanlalBajaj (¥, JRDiTata (@) W.Hirachand
808 (o FOENETEest B d enBah BoRSHE o swo i Sehsor
SHEG ?

1) 2.8 dxp @ airScdvsf () Bebl o @) E8% Sroesod

134. Arrange the following Chinese Buddhist fravelérs to India in their chronological order :

(a) Hieun Tsang () WangHieuen Tse
(© Itsing (d Fahien

& B0b B TG GBSV so8di HogS SPorEonT ety :
(@ SoaseS Aoh (b) PR S D

© =8pR (d) PSP

Choose the correct answer /S0@hs azranid QODE :
p’{ (a), (©), (0),(d) @ (@ b)) @ (d).(a), (b), () @  (®)(d).@)()

135. Give the chironological sequence of the following dynasﬁ&s of the Delhi Sultanate :

(@) Tughlugs () Slaves - (©  Khiljis
(d) ¢ Lodis (€ Sayyeds -

(B0t Ko 8D Herde Sod (S0 Begdn :

@ » i b o8 Sodgen () e
d &8 Deriom (€ ddkigthen

Choose the correct answer /SB&0% aimrendy Job¥ Babod :
1  ©@0b.ed @ @©0b).de@e 6 @ @), (). (d).(e) & ().(0).(a) (e). (d)

P-T 32-D

www.sakshieducation.com



www.sakshieducation.com

136. The army thatSubhas Chandra Boge established during the independence movement was:

Revolutionary Peoples Army @) YoungIndia Army
(4) IndianNational Army

&0 ryoldy S8 HDADE’ Sepgy 505 g5 FHODT PR

(3)  Progressive Peoples Army

() Bergisd ) (2) oof soddir b
@) EThS 559 o 4) =080S IS5 6by
- T —
137. Match the following :
Mahajanapadas Capitals
@) Magadha ®  Mahishmati
(b) Kosala / 7 @  Giivraja
6 v (i) Sravasti
() Yaisa (iv) Kausambi
808 A aSH5SI :
SoSFesddTren Sopgsieres
(@) orE () Setes
) 8o () AOes
© eSod | ) (SR
d 38 : (iv) Tod
Choose the correct answer /B0GHS asaraoil) JoBE S0l :
(1) (a)-(i), (b)), (c)-C), (d)-v) (2) > (a)-(i), (b)-(i), (c)-(iv), (d)-(ii)
27 @), (bHiv), oK, @10 @ (i), (-6 040, (@)
138. Which of the kings in Indian history and the works authored by them is correctly matched ?
(1) Krishnadeva Raya - Samarangana Sutradhara
(2 Mahendra Verma - Mattavilasa Prahasana I
}3{ Bhojadeva - Manasollasa
(4)  Someswara . Amuktamalyada
(B0t Bensphs ooaved, 03 (FrcHnES SiSe6’ SO wSBEIHAIL 28 ?
(1) Egdsoaben . Soolie SHSES
(2 o S8 . BodDeed (BERD
@) s s . BedREeEd
@0 g . edngsreys
P-T 33-D
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139.  Which one of the following codes was not prem:rib'-"'l by Ashoka in his rock edicts ?

(1)  Obedience to parents, teachers and elders:

()  Abstention from killing of living beings.

el Accumulation of wealth.

(4)  Attachmentto morality.

o e 8 00 sosed’ Boiike Gorlgedy Gr00S Bk ?
(1)  SDsolen, HBREd 0D Do J A Talesv]

@) &S o grdore Hotito

@) G |

4) 88 DenHOL é&}gm& Hotko

L —
140. “Honest, but a Bolshevik and for that reason very dangerotis”, - who said this about

Gandhi ?

(1)  Lord Willington Q{ Lord Irwin () GeneralSmuts (4 Berkinhead
“emondtd, S0 SERE DY BHrEEEDI 58" - Mo oD & (80 BSE DB
Pg0W0 ?

1) egapofixs @ of 9058 (3), 2SBS 5y @ BONTE

141. Match the following dynasties with the names of the prominent kmgs belonging to those dynasties :

List-1 List-1I

(@) Prathiharas () Bhimal

(b) Palas (i) o Krishina I

() Rashtrakutas (iii), Mihira Bhoja

(d) Paramaras (iv) * Siyakall

()  Solankis (v) Gopala

Bots Ko Trassomen @ohEd (H trerol By ;
Hos -1 S5 -11

(@) BB @i &I

® &9 i %II

© orgsrEioe (i) Qo8 &

(d) FOSrGen (iv) DSHE

(&) ool v) o

Choose the correct answer /3005 amrand JodE Babod :

M (@), OHV) O [@)-Gi), (-Gv) @ (@i EHY) (O (). (€)-()
@) (a)(i), (b)-(v), (O-(v), (A)-G), (©)-()  (4)  (@)-(i) B}(V), (€)-(v). (d)-(i), (e)-(ii)

sl 3-D
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142. Match the following :
List-1
(a) P:lsllavas (i) List - ]!
(®)  Cholas 4 ) g:lzzl
() Vigyaragar (i)  Mahabali puram
(d) Hoyasalas V) Tor
BoB B 2855w : e
fm*l 865 - 11
@) dede M os
b) e (W) By
©  DucHSKE (i) 00550
d FodHIeven () oo
Chopse the correct answer /RO earenis doby Bakod :
Gy (@), (b)), (c)-G), (d)-(Gi) e i s o oS,
‘ : ) (a)-(ii), (b)-(iv), (c)-(iii), (d)-()
F SR RO @ (M, (M), - (1
143,

It was against the British Indigo planters.
(2) Itwasagainst the money lenders,

(3) Itwasinsupportof occupancy rights for farmers.
(4)  Itwasagainst the increase of land revenue by 22% by the Bombay Government.

19286° @3BAS 28°0 JEnrf#R8 Koworin ) O MBEHED :

(1) ©& WHoh See DED dakried SBEKN

(2 ©b SgargErdhes SB8Eor abAS.

(3) - b DHeH et SoTBoSTRE SOAGE.

4) B droeron (H2HE50 22% &rBKR ©BELT GoHD HBTEor ESINSE.

}Ijlzntify the incorrect statement about Bardo]j Satyagraha of 1928 :

144. Match the following :
List-1 List-II
(a) Kalhana (i) 4 Harsha Charitha
(b)  Banabhatta (ii)” Panchatantra
() Kautilya >4 (iii) Raja Tarangini
(d)  Vishnu Sharma (iv)  Artha Sastra
(Bod AV eSSBS
SER -1 S - 11
(@) Sew % () oG S8
(b) a:ncaafg (i) HotSsoE
© B8y (ii) ores SBONA
(d) " 2 35 (iv) of TR
Choose the correct answer /38&% aaeni JODE Sahod :
(M (@)-(i), (b)-(i), (c)-(iv), (d)-(iii) @) @), (b)), (c)-(ii), (d)-(iii)
(@)-(ii), (b)-(i), (c)-(iv), (d)~(ii) @) (@)(id), (b)-(id), (c)-(i), (d)(iv)
P-T 35-D
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Match the following, :

List-1 List- 11
(@) IbnBattutah (i) Futuh-us-Salatin
()  AlBeruni (i) Kitab-i-Hind
() Isami (i) Tughluq Namah
(d)  AmirKhusrau (iv) Tabatqt-i-Nasiri
(@) Minhaj Siraj (v)  Kitab-ul-Rahle
808 A edSLDHI :

SES -1 SR -11
(a) = wod (i) HS-08-38
(b) oS BN (ii) Baes-a-2r08
(© o> (i) oS o
(d) ©DE wEe (v) oe%-a-SN0
(©) S Bdoes v) BedS-ad-Gp

Choose the correct answer /SO 23aredid dod¥ Bahod :
1) ()i, (o)), (0)-6), (d)-v). (©-V) @ (@), (bHiv), (-(v), (i), (D)
B (@)-(v), o)), (o)), (d)-(ii). (€Hv) @) (@), (o)), (Liv), (), ()

146. Examine the following pairs and find out the correct answer

(a) Babul - Thorn forests

(b) Neem - Evergreen forests

() Pine - Tropical forests

(d) Teak - Deciduous forests ™

Choose the correct answer/ pairs :

(1) (a)and(b) only (2) (a)and(c)only

() (b)and (c)only (@ (a)and (d) only

808 a0l HOTHS DSFFTR) Ersod :

@ eed - o Wb wEPe

b 3B - D88 SbTrlien

© BN - O agdotod et

d 8% - worey) v

B0 waraxl/ador JodE Jbod :

(1) (a) B3 (b) SrED @) (a) S0 (€) SHED

(@) (b (c) Smsd @) (a)SB0% (d)InED
147.

Thé statés with the highest percentage of urban population in India, as per 2011 Census in descending
order:

(1), Tamil Nadu, Maharashtra, Gujarat  (2) Tamil Nadu, Maharashtra, Punjab
(3‘)’ Maharashtra, Tamil Nadu, Gujarat  (4) Maharashtra, Tamil Nadu, Punjab

rBSBE0Ed 2011 aTer BE® (B0 BERE Syn aTer T80 Ko ooEpen, o385 ESHos® |

(1) SDFTD, Doy, Hecd @) SDETD, Doy, Do
@) Do, SDETD, oesor§ @) STy SETD, Soerd
P-T 3 -D
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Match the following, :
List-1 (Mangroove site)
(a) Karwar
(b)  Coringa
()  Pichavaram
(d)  Bhitarkanika

808 B s Y880l
erdor - 1 (58 98He ,3;;60}

List- 11 (State)
(i)  Odisha
(i)  Tamilnadu
(iiiy  Andhra Pradesh
(iv) Karnataka

5 arlor -II(U‘QO}
g; s () ead
O iySco (i) S
(d) OeeB8 (i)  woy HBE
(iv) Koo

Choose thg corresf answ.er/ pairs/;ﬁ&@;ﬁ & fad0s JoE Jabod :
0 OO A~ P oy i, ), (10 (@D
: o (©)-(iii), (d)-(iv) @ (@)-(iv), (b)-(iii), (c)-(ii), (d)4)

149. The lake Vembanad is located i :
5 ?{?ﬁﬁr:;}::tt (2)  Coramandal coast
JoersE B65y agen : (4)  Utkal coast
() oeb bdo @)  sm0ss Bto
() &0o8S d%o W and b
0 g:::;tﬁ;;?): %:::?:E;ME“ along the western coastal plains of India.

al plains are more broader than the eastern coastal plai
Choose the correct answer ; P,

(1)  Both (A)and (R) are individually true and (R).is the correct explanati
Lo planation of (A).
(2) _ Both(A)and (R) are individually true buf (R) ishot the correct explanation of (A).

(A) is true and (R) is false.
4) (A)isfalse but(R) is true,
BOFES (A):  grEEDE S8y B Bevared® Ber D)Ko ©rHhoS.,
=860 (R): EPOSBY H8)% 6 Brriren dxtbs BrrmroLos QKNS DYBID.
JBES azreniy JoDE FHod :
(1) (A)200ak» (R) Botr 2.:) $0a (R) 638 (A) % OGS D58t
(@) (A)5Ba» (R)Botie 2.y =m0 (R) ©36 (A) & S6&0s D566 S0k
B)  (A)eIb ey D8d (R)eds 83
4 (Ao 8 sB (R) w36 o3y

151.

The states which gecupy first and second places in sugarcane production in India :
(1)  Andhra Pradesh and Maharashtra

(2) - Uttar Pradesh and Maharashtra

(35/ Maharashtra and Andhra Pradesh

(4)  Mgdharashtra and Uttar Pradesh

TESTHE, 6 e8RSt (@55 Bat BxBad s i oolapen :
(1) w0(FSEE Sobatn Soiskorig
(2) 685538 bty Sosorg
B) SFoG S8 soEHES
(1)  SFog S0k ag8HES

P-T

37-D
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152.  Match the following :
List-1 (Doab) List- 11 (Riven)

(@)  Bist ()  Raviand Chenab

(»  Bari (i) Chenabandhelum

© Chy (iii) Beas and Ravi

(@ Rechana (iv) BeasandSutlej

800 T8 asd8Sod :

O -1 (38 wods PaSo) T - 1 (Soe)

@ 8§ (i) o2 0k S

b 8 (M) O Hba» deo

© o8 (i) HOTR Hba =D

(d) Bom (iv) DoseR Sdakn SJE

Choose the correct answer/ pairs/SBES aTen/adom Joby Jasol

) (@), ()i, (0)-(iv), (d)-(ii) (2)  (@)-(iv), (b)) 40)-), (d)-(ii)

@ (@-), )i), (0)-ii), (d)-v) @) (@)-(v) (b)), (c)-(ii), (d)-()
153. Read the following statements:

(@)  North India receives rainfall from westerly disturbances during winter season.

(b)  North-East monsoons gives rainfall to Tamilnadu.

(¢)  Indiamostly receives rainfall from North-East monsoons.

Which of the following statements i/ are correct ?

@ (a)and (b)only @  (b)and(c)only

3) (a)and(c)only @) () (b)and(c)

808 DSBROD SEI :

(@) Bersoos® S sbiosto S aZY ESBTRS SEFFSo FrK0b.

(b) SEvdy onSDDTD BDETEL SEIeEQ)0D.

@ erostedt Simd anbisto Sg 088 Srso ofRob.

Hast oS DSBRes DI ? |

1) (a) S0aH (b) S @  (b)%o0as () &mSD

@) (2 $008w (€) SrED @ (@) [0)H6 ()
154, Zawar mine in Udayapur is famous for

1) Gold @ Mica (;/ Coal @)  Zinc

A5aGEER ub e DBB (SNG !

(1) woormdo (2) wgEo @) &% 4 S
P-T 38-D
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155. Match the following :
List -1 (Nuclear power g,

(a)  Kakrapar tion) List - I1 (State)
(b)  Rawatbhata (i) galj)asthan
(€ Kai i) UP.
(d) Nar%;a (i) Gujarat
S08 A 2838308 : (iv) Karnataka
0o - | (o= 35:55 éOLCSa}
@) =6 o 3'9;; I (cv(go)
(b) oS Eerdy 1 DRl
O = ) o85 ©a8
) n;_ﬁs‘cn (i) rDae&
(iv) Somps

; (a';}_‘;f;, r(rb;c(t) ( )j{;l:(';irs/ S8 2Pank/ad08 JodhE Iahod
p ), (€)-1), (d)-(i) : . ol iz A
iy (510, (0, oy o @) @10, BH), (i), (@K
i AL A @) (M0, oM v @)
16.  Assertion (A): B € soils are formeg due to weathering of basaltic rack.

Reason (R): lack soils haye hi _ ; ’
Choose the correct answer : 8h moisture retentive capacity.

g; gg& E:; ﬁg (fg :-;' s ngfvv:guaﬂy true and (R) is the correct éxplanation of (A).
)  (A)istrueand (R)is false. ually true but (R) is not the correct explanation of (A).
(4)  (A)is false but (R) is true.
BOER (A):  2G Bo0 Boego Se SuBra s A,
G0 (R): S0NE 4F-Sen 905 x5 DeodEHe RP8o50 KoD
BBGN T JodE Sabod '
% () B8k (R) Bolr 2.5y) $B8ctin (R) e56 (4) 6 SOFD DS5Ges.
) (A)38a5o (R) Botir 2.3) 9 (R) oad (A) S SBGN D5Bes 0.
B (A)sBe o) SOd (R) eI s N
@  (A)e3b 8 = (R) o3 2.3y,

157. Assertion (A): Pune, which islocated near Mumbai receives less rainfall as com pared to Mumbai

Reason (R): Pune is located in the leeward side of
. western gh ;
windward side of western ghat. ghats and Mumbai on the
Choose the correct answer :

(Y Both (A)and (R) afe individually true and (R) is the correct explanation of (A

(2)  Both (A) and (R)aré individually true but (R) is not th il
e o e y (R) is not the correct explanation of (A).

(4)  (A)isfalse dnd (R) s true.

BBES (A):  Sdoeron S %) GH Kwoeron Kob S5 SEFeed) Frothikond.

S*8oo (R): TE I ShDeH 553 Soreywo 3P @ob. ®LrR Svomron HBHDH EhdeH
35S eddvporr aobd. '
0o e J0DE Sdhod -

(1), (A) 0805 (R) Botir 2.) 500 (R) &30 (A) % 56503 D,
(2) . (A) S0 (R)Bokr 2.5) 59 (R) 36 (A) % SO@S D560 s,
() (A) 38 2.3 65 (R) 036 ).

@) (A esde 8y =2 (R)ed0 2

N ———

P-T 39-D
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Read the following statements
(8  River Narmada flows in a rift valley. .
®)  Vindhya mountains are located to the south of river Narmaqa

©  River Narmadaisawest flowing river.

Which of the statements are correct ?

(1)  (a)and (b)only % () and (c) only
(3) (b)and(c)only ) (@), (b)and ()
808 DSBmes SBS0b :

(a) S 56 dbEEO rbow SSPR00.

(b) SEoe 368 Ko Doy DB STYOD.

© Xoe 36 Hore BSerod 8.

66 JoFR Dstren 2D ?
1) (a)S0c5o (b) Se(Ead ) (a)SoBako (o) domescd
3 (b)d0css (O drEd @ @) b5
159. The states having highest literacy rate according to 2011 Censiis were
(1), Tamil Nadu and Punjab (2) Keralaand Punjab
Kerala and Goa (4)¢ Kerala and Mizoram
2011 esegr BEP (Hsebo @é;&é @gm}ﬁéé &) m@co .
(1)  SDET SO Hoerd (2) S8 LBy Howrd
(3) B8Y S0 AP 4) S6¢ SHbas» &foro
160. Match the following:
List-1 List-1I
(@) Mountain Etna ()  Block mountain

(i) Youngfold mountain

(b) Aravalli
(© Himalayas /7 (i) Old fold mountain

(d) Vosges (iv)  Volcanic mountain
808 B wIDBS0S
-1 aedar - 11
(@ 5 s @) epB SEo
b) evb (i) oS Swis Sto
() rsmoaive () aed Swus Sdo
@ &9 (v) of StEo
Choose the correct answer/ pairs/38@ avaid/adod J0b8 Jakod :
(M) (2 M), (©)-v), (d)-G) @) - (@)i). (b)-(iv), (c)-(ii), (d)-()
3 (@)-) (b)), (c)-(i), (d)-iv) ,44( (a)-{iv), (b)-(ii), ()-(ii), (d)-(3)

P-T

40-D
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P
161. Examine the followin >
xamine . g statements gy, the following articles of the Indian Constitution :
(a)  Article 245 of the Indiiap Constitug: , ;
aresubject o the Provision, o'f:ltt]u,:ocz f:;: ;]:):ltl the powers of both parliament and state legislature
(b)  Ifan accused person jg directs e
offence, there is no violag; d to give his voice sample during the course of investigation of an
On of his right under Article 20(1).
Choose the correct answer
(1) Both (a) and (b) are correcy r
- Both i
@) Only(a)iscorrect oth (a) and (b) are incorrect
B8 — (4)  Only (b)is correct
o® Ol o] ”
l:i o OoSEnen NOBORONN wowed H04D0S08 !
a) grid TeeRoiiodty
@) s ?B@&oéﬁ ©OE8ea0 Loty HdA% o) 208 Kefen ooaron ImogseH ol
b) 6 s grsom B0 ek
o
- 5% S5i0R003ty e, 3o e DodéR) eBdR 20(1) ©hSsHo (P60 @ wd¥o
JOES e J0dE Faho -
(1) (2)%Bcs (b)Botlr BB @  (a) S0 (b)Bote $6@SD =%
@) (a) SRS KOS @  (b)SrisD oEDse
162. Match the following :
List-1 List~II
(@) Narmada bachao andolan () Sunderlal Bahuguna
(b))  Chipko movement (1), “Daripally Ramaiah
(c)  Biodiversity concept (iii) * Medha Patkar
(d) Vanajeevi (iv). Edward O Wilson
(v)  Michael Greenstone
808 B adNGSol ¢
0§-I i Dg-'“ 1l
@ G oS W06 () Dosters asuris
b) 098 eostES (i) B oododsy
© &5 D0 arss (i) e a5
@ 5589 (v) G S
W) @96 @5@:5
Choose the correct answer/ pairs /380G0 ssareni/as0 JobE SdHol :
(). (a)-(ii), (b)(i), (c)-(iv), (d)(ii) @ @), B)(), (Hv), (d)-(iv)
(@)(ii), (b)~(iid), (c)-(iv), (d)-(i) @) (@), (b)-(iv), (c)-(v), (d)-(i)
P-T 41-D
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prof, N.N: Wig who expired on 12'" July 2018

163. Examine the following statements about
(@)  Prof. Narendra Wig was amongst the forem0St Psychiatrists of [ndia.
(®  In1991, the Royal College of Psychiatrists: London honoured him with the highest award of the
Honorary Fellowship of the College.
()  Heis the second Psychiatrist from India to be honoured with that award.
(d)  Hewas the chairman of the World Health OTganisation (WHO) Advisory Panel on Mental Health.
(@  He was born in the West Punjab district of Gurjanwala,
Choose the correct answer :
(1)  (a),(b),(c)and (e) only (2 (a),(d)and () only
B3¥  (a)(b)and (e) only 4  (b).(c)and (d) only
&8 12, 2018 oo Sgids wardy NN. oF 1800 808 Bmeis (worrei) $B8DoSOL |
(a)  rosB¥o Gk olEned SrIRE Qepros® ey SBos IR e RIS S8
©) 19916 TS sBS 65 pAArBEY, otS T WiKh HORG uH 6 BL odyhS HBFBoE
2 TEJoNOB.
© & HEI]Bos® FBdosny grrsBosd’ B8t Dok RBAHBE.
@) @dos et Sog Srshs sliop o DotOS odh FYSm aodl.
@ o8 58 Hoarss’d HbeTe® Berd® adomid,
$O@os asareniy JobE IcHod :
(1) (@) (b), (c) S0 (¢ SmED @) (@), (d) 00 (¢) SmE
(3) (), (b) 5B (e) SHSD (@)  (b),(c) SOt (d) S
164. As per ‘Socio Economic Outlook 9018" and 2011 Census, the following districts have lower sex ratios in
Telangana. Arrange them in the descending order as per sex ratio :
(a) Hyderabad (b) Wanaparthy () Jogulamba Gadwal
(d) Rangareddy ()  Medchal ()  Sangareddy
Choose the correct order/answer :
(1) (a) () (dBh()and () @  (e)(@)(d) () (b)and (c)
B @ @) @) Had© @ (.6 0) ) @and(@
nGr JINE TeSenk - 2018 £Bckw 2011 esirgr B BSP0 Bvorres &9 80b Bepod® doK (Bon¥)
0:5)8 SIS GoB. & Bepuid Bons A Hevo eIE T EsSo08® @80l :
(@), 3rooerl (b) 38 @ &rboron Koxs
(d) , orrdg (€ DS () Sorrdg
$OG@S (ES00% / eTrenid dobY Jchol :
1) (@) (e) (d), (b), (c) 0O (f) @ (e (@) (d) (@) (b)0 ()
@) (d)(a) (e). (b) (f) B (c) @ () (), (b) (e) (@) 20a (d)
P-T 42-D
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Examine the following stateme

(@) Article 51 deals with the Fypg amental Duties. %~
uhes.

Fundamental Duties were ; o
(®) ¢ ‘ ere INcorporated in the Constitution through 42"d Amendment Act 1976\
()  Fundamental Duties cannot be enfore ed by ‘writs’

(d)  Fundamental Duties cannot pe Promo

nts regarding the Fundamental Duties -

ted by Constitutional methods.
Choose the correct answer :

() (a)and (b)only @ (b)and (c) only
(3) (a)and (c)only @  (a),(b)and(c)
(B Do Sowodod dog VOB $68D0S0R

(@) ©BSS 51 (@FWE e 8eHson.

(b) 1976 Sony 4235 Toess0K S Tooe (D8 Do D oSS,
(€ 08 oo IDPEDE Do ooey Fawdo,

(d) oeergol 5¢g§;oé“ (PEDE Deerso F&oFer SchHdo.

SO asTrand JodE Taol

(1) (a) B0 (b) Se&Dd @ (b) S0 (o) diriesdd
@)  (a) 8 (o) SHSD ) (), (b) SOGH(c)

166.

P-T

Regarding the state bills reserved for President’s consideration, examine the following statements :
(@) President may declare his assent to the bill.

(b)  President may return the bill to the state legisiature for its consideration.

(c)  Statelegislature shall reconsider it accordinglywithin a period of six months.

(d)  Ifthe legislature again passed it withror without amendment, President shall approve it.

Choose the correct answer :
(1)  (a).(b)and (c) only 2)  (a),(b)and (d) only
(b), (c) and (d) only (4)  (a)and(c) only

o8 308 Dey T8 earaels SODR, TFHB ©HSTRE $0m050D 808 DSBmeh S68D0S0l :
@) ToFE8 © den HIBED VDS

b) TP 5¢5% 93 0080N FEH TrPhd 8) SodSy).

©  TFE8 SIS mibidmone o EE B8 6300 679 H%:508D0.

@ SS5eod® Ml doc sstne BHom MR BoESFO of X5 34 wIraR, TPHs S5R50m

J0856 Bairo.
SO e JodE IaHod :
(1) (@) (b) 0 (c) SomiescDH @ (a), (b) O (d) S
()7 (b), (c) D00 (d) migD @) () SO () D

43-D
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pmine the following statements :

167, iament enacts laws. In thisregar I, ex Ve :
E‘a;rh ‘“:!;‘l‘\:l:::‘i:::Ili::i\i:w ;:I‘.::":-:.tlf:‘;l:i‘i\ll be introd urcltl in either house of the parllahfngr;‘tc,)um
b Al mo;nlu'rs ol Ilt‘\' parliament have the f'ﬁm 1“l;lilrml!_|w bills in their respec v i
ill may be fuced vither by a minister or by a private member. . .
ifi)) {?Tﬂ.’ff I‘;\.'ls‘h:'l:“lril‘l:t:Il:lti;I:vld‘in e official gazette before its introduction, N motion for lediiQy
introduce the bill is necessary.
Choose the correct answer:
1) (a), (b)and (c) only (@  (b)(c)and (d)only
¥ (a), (b)and (d) only 4  (a) (c)and(d)only
oS Stoen Biyod. B SomoBod 806 ©OTOH HB8DoTo :
() g8 Depd® $36 ©d) Dego, agdh 358" D $e56° wovw (B3E DRI
0) BBt seguoseh 6 0 $§o8 DROD BEEHE oo a0l
O Do 0@ S0, RIE Seoe S0 BT DI, ‘ 5
(d) (OSFLHE8 008 ©Hs0S KRS HHB0DS Doy 156" HRILEO8 Serod ©HHB BT
8.
SOES aTrandy JodY Tadod |
1), (a), (b) S8 (c) SPSD @ (b),(c) S8 (d)ERED
(a), (b) Bt (d) SRS @) (a) () &bt (@) SrEd
i
168. Examine the following statements: I . 4 on Fund’
(@)  The Indian Government approves corpus of 5,000 crore for setting up of Micro Irrigation Fund
(MIF) with NABARD under Pradhan Mantri Krishi Sinchayee Yojana (PMKSY).
(b)  The’Microlrrigation Fund’ would substitute’Per Drop More Crop’ (PDMCQ) component of PMKSY.
Choose the correct answer': ;
(1)  Both (a) and (b) are correct. (2) . Both(a)and (b) are incorrect.
(3)  Only (a)iscorrect. (4) = Only (b) is correct.
800 worod H08DoS0d _
(@)  O5ed 20 8% bowron @red’ (PMKSY) Sod e (NABARrj)sﬁ_';lgﬁ SBRJS Hob' (3rg)
58 st BB) Doy §R0 ERES (54080 T 5,000 £ SEHD e3rBOD0B.
)  BES 208 B DEIn ErasS” grrES 158 H8 D% S Hob' (36 &5 6 9) B
e Ve 8 HEe,N'0 @3&0&:‘:63.
SO areri dodYBabod :
(1) (a)200csy (b)BoErSOER. 2) (a)0A5w (b)Borr JBEHID S°.
9)/ (a) SRS HOEHE. @  (b)SPED SB@RSB.
169. Which of the following responsibilities are under the preview of the Finance Commission ?
()  Sharingofnet proceeds of taxes between the centre and states.
(b) Récommending the principles for governing the grant-in-aid to the states by the centre.
() Recommendationon the matters referréd to it by the President for the interest of sound finance.
Choose thie correct answer :
(1), 4{@)only (2) (b)only (3/ (b) and (c) only 4  (a),(®yand (c)
808 BS* D antiBen wRY Koo I6HS°8 SJow?
(h) Sige 086 worair Sogo Hbaky Epe S BN
) Soo e wolod ¥istaire Yopofods IDIFOD DPED Icwo.
(© OVER0 MrSSol ehrbnom ol P ErPPoB0IERS SIIEDN HJEHen Jabo.
A0S erandd Jobs Sabol :
- (a) SID @D OirEd @) OIBEOINED @) (a), (b) 20 ()
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Examine the following statements about the NITI Aayog of India :
(a) It was established to Provide
of Indian economy,~

b It I'xelps to evolve, promote and strengthen cooperative federa]jsm‘/
()  Itformulates five year plans for India. v/

(d) Itwillcreatea knowledge, innova

& critical, directional and strategical inputs to the development process

tion and entrepreneurial support through collaborations.
Choose the correct answer : Hrep PP &

Q)/ (a), (b) and (c) only
@3)  (b).(c)and (d) only
Ao Tal (o 1oM FdoswdS dy (NTTT) saeF; s,

(2 (a),(b)and (d)only

4)  (a)and (c)only

$o®000d% 808 wodres HB8D0SOA ;

O ST OONS TS 5905 o eliyg ©805S woBoSTI8A SBRRS Dot

(b) FESTES" SirseS Soogy VKD D) BroSErs, BOSESERE, EPOBONEOS 56 E%)KE08.
(© erE80I8 DouSY, (Herses, Er0808.

(@) edpoore Ty SBepred, SsEeyses, EgSPHE S50 s 0P EB)00.
BSOS e JodY THoA :

(1) (a), (b) BB (c) S @ (a), (b) S0 (d) e

(3)  (b).(c)SoBco (d) Soriesad @) (a) S0 (&) SPED

171,

Examine the following statements about the ‘Scheduled Castes and the Scheduled Tribes (Prevention of
Atrocities) Amendment Act, 2015" ;

(a)  The Actcame into effect from October 2, 2015,
(b)  Special courts are to be established for speedy trial of the cases related to offenses against members

of the SCs and STs.

()  Preventing tribal people from uSing religious, health and educational institutes is also made
punishable by law.

Choose the correct answer :

1) (a) (b)and () @) (a)and (b)only

(3)  (b)and(c)only 4) (a)and(c)only

Qg Heren, S Bife (GErHR Dardis) $580 K’ 2015 0009 808 sosve 5680080k :
(1) @& 22015508 & Sho wens’s SYob.
()  SCHoBasty ST Hhse S58B8cr abh Jore Konogods Twek SKSosorr Db aESmOs

e (H858 E°Gos dovyen e,

©  ABeS (Heso SoSBER, 6B HERS HBAD ITFBEHN Jogeos 5@PA0SE Do dboSto
e SQBsEo 3grdo.

SOES e Job¥ Jabhod : .

(1) (@), (b) 580t (c) 2)  (a)00akw (b) S

@) (b) B (c) S @)  (a)soBakw (c) S FD

45-D
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172. Examine the following statements: .
(@)  Integrated Goods and Services Tax (IGST) would belevied by the central government and collected
by the state governments on inter-state supply of goods and services.
()  GST council was created as per the Article 279A of t.h(-‘ amended Constitution of India.
(©) Telangana was the first state that passed the GST Bill in India.
Choose the correct answer :
(1)  (a)and (b)only @  (b)and(c)only
(3) (a)and (c)only @ () (b)and(c)
808 womred $568Dos0d :
(@) »gs sphse sy (IGST) S SRS VoSG JEHTR DOFth. & Bl oS HEHE0
268, ool Bebergen Sren SFaD.
b) rESSED $5B0SpAS Tamolios® 279A ©855R0 [Beto GST 8 (S0oED) Srdrobosnlod.
© erssd8o6® GST Depid w@rHod 0658 T o Bworre.
[HOT0N ATe0d JodY Wabod :
(1)  (a)SoBcko (b) Sor gD 2 (b) B0 (c)apiEsd
@) (a)@BAk (c) S @) () (b)50c(c)
173. Examine the following statements about constitutional interpretation of environment by Supreme Court of
India:
(8)  The principle of ‘absolute liability’ was laid down in Oleum Leakage case.
(b)  The concept of sustainable development was introduced in Rural Litigation and Entitlement Kendra,
Dehradun Vs State of Uttar Pradesh case.
(©  ‘Polluter pays principle’ was adoptediin Indian Council for Enviro Legal Action Vs Union of India
case.
(d)  Exhibition of slides free of coston environment in Cinema theatre was ordered in ‘M.C. Mehta Vs
Union of India’ 1991 case.
Choose the correct answer :
(1)  (a), (b)and (c)only (2  (b)and(d)only
@) (a)and(c)only @ (@) (b)(c)and(d)
58 obo 5% STsHteos Tergoll e 3RS Bob ASEeoD 56880508,
(@) DY e dngo L0 B8 aragod® Bholiod.
b) FREDF PHR' &rDD Er5S DBAGS woE JoBBEDOLS o, BEPErS Vs 5 uf 688 SBS
a‘aesoés EEER I~
€ ‘Senfiisitord ¢oomrd’ Sml@otd 208055 TYS H56 JG® HKS aIrES Vs SrdadS s aoddir
ey08® er0HRE0D.
(d). BoS0E BEGS st Sostnop edSor R ok BEQOTOR AH.D. Do Vs chrdaHS
65 m08air 1991 arees® eS8y asywiod.
SBES waredd JobE Dandn ;
(1) (a), (b) SO (c) SmeaD @)  (b) B (d) SmSH
@)  (a) 00w (c) SRS ' @  (a) (b) () B (d)
P-T 46 - D
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174. Exami!\c the following, "lah.'l?u.'nln about the 'Furopean Bank for Reconstruction and Development’ (EBRD):
(a) T'he bank was set up in 199 after the fall of the Berlin Wall ‘
(®)  The bank’s headquarter iy locageq i, Berlin.

2 - » “'I
(©)  India became the 69 shareholder of the bank.

(d)  The bank aims at Promoting public i e
ic infrastructural initiatives in e i J ’
Choose the correct answer : in emerging Europe

(1) (), (b)and (c)only

(3)  (b)and (d) only

.aﬁ)ébclméc:o bablale @Qﬁe)% 850 st
50800508 :

@)  BYS A () 3850 S & emor; 1997 6 domen Babhelob.
() emgod @eS STUFRADO BETES a0p,
(©  ergoH Gk 69D T grssEo 3808,

@ &m0 ofjo JMDHY et war 5308 sedairs S0y SHeRtrosco.
OGN aarend JoE Tahod

(1) (a), (b) HBK (c) S

(2) (a),(b)and (d) only
(4) (a)and (c)only
DADS erso’ (EBRD) /5800 808 diSbmeds (@osroi)

@ (a), (b) Btk (d) SRS

(3)  (b)&oBck» (d) S @)  (a) Bt (c) Sriad
175. Match the following states with their respective Maternal Mortality Rates (MMR) during 2014-16:
State MMR
(a) Kerala @ 237
(b)  Assam (i) 199
(€ Maharashtra (i) 66
(d) Rajasthan (iv) 61
v) 46

2014-16 SPo0ét 808 TP B (BP0 S8 Feos® (MMR) 23855508 :

oo (B30 Bobere Sin
(@ So¥ @) 237
b o @) 199
(© Sty (i) 66
@ oas (iv) 61
) 46

Choose the correct afiswer/pairs /S0GHS arad/s805 Jods Sahod

1) @-(v), (b)-(i), (c)=(idd), (d)-(i) (@)-(v), (0)-(3), (c)-(iv), (d)-(ii)
(@) (a)-(iv), (B)-(iid), (c)-(i), (d)-(ii) @) (@)-(idd), (b)-(id), (c)-(iv), (d)-(i)

On which of the following dates did Pandit Jawaharlal Nehru laid the foundation stone for the construction
of the great Nagarjuna Sagar Project ?

(1) 1 August1955 (2) 11 December 1955

(3)" 1 October 1956 (4) 1November 1956

| 256 o8 o e PKE (B VoyrEnSS FoHpDS IVS 38 6 ?
(@) 1y 1955 (2 11 &%owb 1955
) 10861956 @ 13S0w8 1956

176.
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Which one of the following statements is not correct !

(1)  Dr.BR Ambedkar favoured smaller states.

(2)  Masuma Begum was the first Vice-Chairman of the ”l‘t'filngam Regional Committee'.
(3)  Telangana Mahasabha was formed in 1957-’ '

(4)  K.R. Amos was the founder President of the Telangana Non-gazetted Officer's union’.
B0b BbSred® X058 28 ?

(1) o B.66. 0ol O%) TEEe e EgEa VBT,

@) s Ao ‘Boorem @roBab SD& 2058 35-34S.

(3) 1957 & ‘Bovorre P, TS AT Qc‘j::oa"d).

@) ‘Boorme wSAABE whidf) SrRERS BPPIE oL 8,66, 6Irs.

o

178.

Dr. Burgula Rama Krishna Rao wrote a lengthy letter making his stand on separate Telangana to the
Congress President. Who among the following was then the President of Cofigress ’

(1) DX Baruvah (2) H.N.Bahuguna

@  ]B.Kripalani 4)  U.N.Debhar _
oo eardye TPEE)E TR ($H8g8 Boorre 5ot 85 edPFrdireH Boyde seod® o558 2.8 .'bég Sy
R, e SOl BeHo 86 ?

(1) &3 2% (2 TR, 2

3) 2.8 I @ .8 Sab

179.

After Dr. Marri Chenna Reddy was arrested under the Preventive Detention Act in
July 1969 who among the following women, Ie;?e TP.S. agitation :

(1)  DurgaBhaktavatsalam Sadalakshmi

(3)  RodaMistry (4)  Sangam Lakshmi Bai

oo S0l B9 B dwotsly IGowDd (®. 8560 HEL 1969 2~ J0s® eBPand Sond Boorts (e
5508 (808 GEgETY EIFA0DS Hre? FPOHHTRen 2D ?

(1) oo gEsEo 2) Sorof)
@) & 2R @ oKo oferan
180. Match the following :
Programme Organisation
(@) ‘Telangana Poruyatra’ (i) BP
(b) ‘Telangana Prajayatra’ i) CPI
() 'Telangana Vidyarthi Ranaberi’ (i) ABVP
(d) ‘TelanganaYuddaberi’ (iv) Telangana Sangarshana Samithi
28HBSHBW
SeUgE0 doid
(a) .« Boorre oA i 8
(b). ‘Boorres (Herdin@’ (i) .6
() ‘Booree JoY BwEd' (i) 2.90.92.
) ‘Booree angEHd (v) Boorrm Sogm SMd
The correct match is/P0G0N &
1) (@) (b)-(i), (c)-(iv), (d)-{iii) @  @F), (b)-(i), ()i, (d)-(iv)
@) (@)(i). (b)-(D), (©)-(i), (d)-(iv) @ (a)-(iv), (b)), (c)-(ii). (d)-6)
P-T 48-D
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The 1969 agitation for separate Statehood began on the issue of employment at -
( Kothagudem Therma) Power Plant
)  Singareni Coal Mines
(3) Nizam’'sSugar Factory
1969 6% SEE o 65550 8oa 3 5o 60 B DAt $ogS* (6oeiDod ?
Q
) SETo §5S Dy EEON
2) Dorde &% Hioen
() Rero IKK Soprssy
(4) ©SoBS3S ooy 5% Bares 0
®

182.

o e e
Arrange the following in Ch.ronologica,[ order :

(@)  Telangana Praja Front was formed by Gaddar. v

() "Telangana Dhoom Dham’ was held at Kamareddy for the first time.«"

(©) Com@t party of India Organised ‘Telangana Poru Yatra’ from Jodeghat to Hyderabad.
(d)  Bharatiya Janata Party organjseq "Poru Telangana’ from Hyderabad to Bhadrachalam.
o8 B SHHEDS® Dy -

(@) "Boorrs @30S S HEE Soren Favo,

(b) ‘Boorrem Gro PO’ IneInSBIEmT SEr0g 6° Ao,

©  &e58aD S5OR 38 S A ool tirend B5S Beores B SIS SSeptn.

(@) 0D s> 2 TECERD Dol forsen S5 D Svorrs’ SEYEITRY DRBPOTo.
Choose the correct answer /30@S amran JobE Fahol -

1) (b)) (c)(d) 2 (®)@). @ ,(35/ @). (b), (0), (d) @ (©.(d).(b).(a)

183. Match the following :
List-1I List- 11
(@) Ampasayya Naveen () Pantulamma
(b)  Sangishetti Srinivas (i) Veguchukkalu
()  Devulapalli Ramanuja Rao» (i) Kalarekhalu
(d Madireddy Sulochana (iv) Shabnavis
(508 8 asdHtHHn -
&dae - | =dee -1
() oo $OS () Sodedy
®)  %ondg @95 (i) S5
() 5D sron oo (i) sceBwen
() EEBA fwetss W) SeydS
The correct match is/S8&@S & :
(1), (a)iii), (b)-(iv), (c)(ii), (d)-(i) @ (@Hv), (b)), ()(ii), (d)~(i)
9/ (@), (b)), (c)(iid), (d)-(iv) @ (@A), (b)Hiv), (c)-G), (d)-ii)
P-T 49-D
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184. K. Achuta Reddy was elected as first Chairman for the Telangana Regional Council by defeating

H{ B.V. Gurumurthy (2 Mir Mohammad Ali Khan
@)  RaviNarayan Reddy (4) BaddamEllaReddy
2559 £.800 3. ey B8 Bvorms @obab $0E5 STRD san 2

1) .9 K%HBmY @ 80558 ob 5

@) oD Forahes 06 @) 8o Jer 38

I €

185.  Which one of the following Commissions was appointed in 2002 by the State Government to study on
implementation of G.O. No. 6107

(ﬂl{ Jaya Bharatha Reddy Commission 2) ]-M. Girglani Commission

(3) KR Amos Commission (4)  Purushottama Rao Gommuission }
2002 H0ué® T (©§HI0 8.2 J0. 610 sHoen D55 B $0EDeSIM GBS SHES BB ¢
(1)  eabeess 38 S8 (@ 830 AEED KBRS

@) 8.eb &3r% 5N @) DBRED oo EDIS

e

186. Who among the Telangana leaders was the first to suggest Vishalandhra ?

(1)  Gulam Rasool Khan @ 4V, Narasinga Rao
(3) Devulapalle Ramanuja Rao (4)  K.V.Ranga Reddy
Boorrs TEHHes® A5 TngEGe “DETOER” oS ?

1) Ko 556 R @) B SERTY
B) BHoDY Trdrde 7Y 4) 3.2 Boredd

187. The two political parties whichidid not support the agitation for separate statehood in Telangana were :

(1) BJPandSP. )  CPI(M)and BJP

(3)  CPI(M)and MIM (4)  CPI(M)and BSP

8ob D Tresbasy Een B Boorrm aURIS DR BEB0SBD ?

(1) BD&ES HOd RS @ D.O.®.(c%0) Doaw DED.
@) 2.5.edcho) HBcin do.w.d0. @)  D.D.®.(cho) HOx D.AVD.

188. . The Linguistic Provinces Commission set up by the Government of India in June 1948 was headed by

(1) SK Patil 4% SK Dhar @3) Pataskar (4) PN Haksar

1948 =S & &rSS (H¢HB0 B8 VAHMOSHAES Frar (P ooaPe SITD DD 3D ?

1) N3 >85 ) N2 5 @) Ses @) DT 8
P-T 50-D
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189.  Assertion (A): [n 2001 1ocal body elections, the T.R.S. made an impressive show by getting 18 percent
ol votes in the Telangmm region.
Reason (R): Because of the growing official neglect towards Telangana region in United
Andhra Pradesh State K. Chandrashekar Rao Left ‘Telugu Desam Party’ and formed
Telangana Rastra Samithi’.
The correct answer is :
Both (A) and (R) are true and (R) is the correct explanation for (A)
(2)  Both (A) and (R) are trye and (R) is not the correct explanation for (A)
3)  (A)istrue but (R) is false
(4)  (A)isfalse but (R) is trye .
(DOPRES (A): 2001 &* eyppg PR Soge IEus® B.66.8. 18 evdo Ly SoDaod wapd $0008.
s8wo (R): Y wosES TS Boors @odin $§ JuEH WHTOS 05K 5 Svos
$580%ore 3, SoEEpboeg Beurt B 80 S6D BoofEks ooy HWH 2DoID.
[0S Da3des
(1) (A) S0 (R)Botr dessiv, (R), (A) & $8GN DSes.
(@) (A) DB (R) Dot desiky, (R), (A) % KO@DoS DSBea SO,
@) (A)Jzso S (R) 8y,
@) (A) S D (R) desidon.
190. The poll survey conducted in 2011 by the Centre for the Study of Developing Societies (CSDS) was headed
by:
(1)  Rajdeep Sardesai (2)" Yogendra Yadav
(3)  Pranay Roy (4) < ArnabGoswami
2011 Son&® 2006 35 & f B5uboR FRAS ®.95.8.05.) 3 N0y VBRroDS (HerPHrah Ve
D0 eios® adhod ?
(1) =B85 SBevow 2 o amss
B) (e oodh @) oBS A3
191.  Identify the wrong pair :
(1)  Palle Kanneru Pedutundi - Gorati Venkanna
(2)  JayaJaya heTelangana - Andesri
3) Urumandira - Chada Anjaiah
@ Amma Telanganama - Gaddar
S0sR) e HB0S0d
(1) SBEYHS Bodon - DS o8y
(2. " Bdd 2dd e Bvorrsn - woad
(3) . &BHSEsBo - O wondly
(4) sa‘n& 8e0rmedr - 595
P-T 51-D
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192.  According to Gentlemen'’s Agreement two out of the following portfolios were to be assigned to ministers
from Telangana. They were:
(1)  Home, Finance, Revenue, Education, Commerce and Industries
@) _ Home, Revenue, Industry, Education and Planning
Home, Finance, Revenue, Planning and Developmentand Commerce and Industry
(4)  Finance, Electricity, Industry, Education and Rural Development
Db edjoto EEEED & Eob epud’ 00E00A Buomn 08 Serasomd. €3
1) D, 6y, Bars, Dy, TR0 20035 H0(FHoen
@) e, O3, Ho(Fer, i SO e0oh
@) T, ugs, B3Ny, 0of SOy €53 Bk e Baky HO|EED
@ g5, DS, SOESoe, Desg B B8 BS0DDods
) S -
193. Which one of the following statements is not related to the all party meeting organised by Kasu Brahmananda
Reddy, the Chief Minister of Andhra Pradesh?
(1)  All party meeting was held at Ananda Nilayam on 18th and1oth January 1969.
(2) Toimplementall party meeting decisions the G.O.No. 39 wasissued by the Government of Andhra
Pradesh.
(3) 1J.Naiduand R. Vittal Rao were appointed to implement the decisions of all party meeting.
(4)  TheState Government appointed Kumar Lalith Committee to estimate surplus reserves of Telangana
on 23" January 1969.
& (Bob [H5S55Enest OB woFEES Svagiold SN (BSFNoE0s ozt 305 oo SE HIRBIENID
$000809 96 ®anod S ?
(1) @350 18580 19,1969 &° efo S5 $53%0 wdo8 Joahos® udACL.
@) oo 5§ BchiveH eHediinD soFHds HeosyEn 8.5 Jo. 399 DB 3nob.
G) ©.8 wind Dbk b IS B sho S§ FErSE Maired sde SHDHEF DAHIOSDEB.
@) Beorrs He AHwiH S0l Ao ToF BHEHEE0 23, 8356, 1969 %SrE 008 S8
Dabdoood.
194. The political domination of Andhra ruling class over Telangana resulted in :
(1)  Both theregions enjoyed the fruits of development
(2)  Establishmeéntof separate Economic development zones
(3) . Incréasédagricultural income
Made tlié people of Telangana as passive recipients
Boorrn HoE ol IBY orasfadh ©p¥E HSore :
(1) Bokr @roren ©HH)E Joren Drobeon
() (©85 wdsdH) Sokeren AT?)E0DTPOD
B) SErcho Dol eorabo DBACH
@) Boorrs (Huen SSeo (DES Sore ADIVANO
P-T 52-D
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" R Bt 1 et ke e g
(1) Ttconducted a Peasants March to the District Headquarters
(2)  Itproposed “Chalo Assem bly”
| . fg ©aBainst Electricity Board
;3‘0;‘:;;;2’?; 5255 855 Beromeg als506° @F°S g oo, 8ot Bt D6 « R Col)
(1) &8 Zep Solr08 sy GRS
(@ 36 w0 s 28808,
) 8ooms Beed o8 “DEH0S uf ygoc % BHBosto.
(@) d0Edd &85 358880 Hootro Bssexco.
196. Identify the wrong paif_i__-___—__‘______
(1)  Telangana Martyrs day 17 May, 1969
(2)  Telangana Protest day - 2 June, 1969
By Telangana Betrayal day 20 April, 1969
4)  Telangana Women'’s day 17 June, 1969
[0 w8 HoSos
(1) Beore esdthe &30 173, 1969
(2) Boorrm JBIS BRo - 273, 1969
@) 8oorre oSS B - 20 S, 1969
(4) 8oorrn Hdrer B0 - 17258, 1969
197.  Assertion (A): The fruits of new marketeconomy unleashed from the 1990s were enjoyed mostly by
the Andhra ruling clags,
Reason (R): The pitfalls of development were borne by the people of Telangana.
The correct answer is :
Both (A) and (R) are true and(R) is the correct explanation of (A)
(2)  Both(A)and (R) are trnie and (K) is not the correct explanation of (A)
()  (A)is true but (R) is false
(4)  (A)isfalse but (R)1s frue
(P8ISS (A): 1990 0l (@203 Ir8% Sr5)5 QS 58 D) Pero Se wolFoBostD FossBo
erEHL08.
80 (R): el D& e Seodril Boorn (B gostes SQyod.
VOGN DB
(1) (A)&0c5 (R) Botse Desisv, (R), (A) & SO Didise.
(2) ¢ (A)Bcn (R)Botr Jesisiv, (R), (A) © DOTN D5Bea st
(@) (A) dassio =01 (R) ).
@ (A) 8 =9 (R) desiso.
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198.  Arrange the following important Agitations in chronological order under the leadership of students of

Osmania and Kakatiya Universities.

(@)  ‘Telangana Vidyarthi Garjana’

(b)  “Chalo Assembly’

c ‘Telangana Vidyarthi Mahagarjana
Ed)) 'Vidyagrmul:;’?lrike ka’ by Kagk;]tiya University Students PR
SR Hdak sEhak Do rciyisos’ 20NS & Bob adired grer0d” ©lin
(@)  ‘Booree Doy W’

b) 36 wod)

(€ ‘Beorrg :Javég Sospriges’

@)  s8Bosh crBeyS domged Atrosnd Drgge SO

Chgose the correct answer /S0 a3TPeid 0¥ Dol :

(‘?‘m (a), (b), (c), (d) @ ()@ ()0 @ (© () () (d) () (o). (d) (b).(a)

199.  Which one of the following statements made in A.P. Legislative Assembly in June 1961 is not correct ?
(1)  “If the Government takes immediate steps to provide basic necessities to the people of Telangana: :
then there is every possibility of emotional integration of both the regions at the earliest
- P.V. Narsihma Rao.
(2)  “The Securities and Revenue surplus of Telangana has been spent on Andhra region. If only that
amount and another four to five crores were spent on Telangana, it would have developed well”

- P.Sundarayya. : ‘
(6{ “Itis five years since Vishalandhra was formed. But there has been no emotional integration. The

policies of N. Sanjeeva Reddy were responsible forit” - Ravi Narayan Reddy.
(4)  ”No one wanted to rob Telangana money. ‘We are just thinking as to how to solve the problem”.
- Chief Minister N. Sanjeev Reddy.
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200. Identify the (leader who did not appose the disintegration of Hyderabad state and
represerited the same to the states Re-organisation Committee.

(1) Pundit Narendraji (2) Pundit Vinayak Rao
Gopal Rao Ekbote (4)  Kotturu Seetayyagupta
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